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100 Days Korean Grammar Challenge

Have you completed Carro's 100 Days Vocab Challenge? Way
to go!

Now that you have gained a fair amount of Korean words,
you are ready to tackle the next essential step for becoming
fluent in Korean: making longer sentences with the appropriate
grammar structures, in a natural way.

KP's 100 Days Grammar Challenge will be your aid in
understanding how to use the most crucial and common
Korean grammar concepts in order to be able to communicate
in Korean.

Korean grammar structures are clearly explained and used
in various sample sentences (based on the Topic Word Units
from Carro’s 100 Vocab Challenge) in order to provide a
comprehensive picture of their usage. You will get plenty of
opportunities to use the grammar points and test yourself with
the quizzes that accompany each section.

The book is structured so that you make your way from the
easier structures to more difficult ones towards the end of the
book.

At the end, you get to take your learning up a notch! Using the
previous knowledge from 100 Days Korean Vocab Challenge
with the newly acquired sentence structures in Korean you
are ready to take on longer, more complex sentences. You will
have 10 Essay Topics with prompts to help you brainstorm and
activate your acquired knowledge and creativity. Won't it feel
amazing to see yourself writing up longer paragraphs in Korea?

Be confident that all your hard work will pay off! With the help of
the suggested materials and by setting up a routine for study,
practice and revision, you will be able to see the results of your
hard work.
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Day 1: ~0{|2/0]0|2 = Is /| Are /| Am

It’s used to make statements or to ask a question. It is attached to a noun.
If the noun ends with a final consonant (£t%!) — ol
If it doesn’t end with &% — of|

Ex.

28 M= 7t087? (Are you a singer, Suhyun?)
A ofHLKL. (It’'s my mom.)

0|Zd2 Zxolo|R. (This is a notebook.)

o] 22 MMEoJoIK. (This person is a teacher.)
M= CIXto[Ho|K. (1 am a designer.)

Practice

Ql. dl SM (a2 /oloK)

Q2. X|7l(vfl /oloflR)

Q3. 22| 7tE(¢K / ol0R)

Q4. H| oL

Q5. M= 2JAt

Q6. 2L = SIAt

o

Q7.I’'m a student —

Q8. It’s my grandfather —

Q9. Thisis a pencil =

Q10. 1 am~(Your Name) —

Answers: 1. 0[0|2 2. 0f|2 3. 0[0] 2 4. 0|2 5. 0|2 6. 0[0f 2 7. K= H+4i0[0f 2 8. X| ZOfHX|0f2 9. 0|22 HEO[0l|R 10. K=~

o 2/0/02 (ex. M= 300 R)
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Day 2: ~0]/7} 0| 2?= What is ~?

It’s used to ask for a certain information or the meaning of a word.
If the noun ends with a final consonant (2t%!) — 0]
If it doesn’t end with gH&l — 7}

Ex.

F|0|7t Holl2? (What is your hobby?)

O|20] HoK? (What is your name?)

ZF=27F Fo[2? (What is your address?)

Mot 7F 2627 (What is your phone number?)
Ar2to] Hof|2? (What is love?)

Practice

%, QL. &zl M,
o

Gos) Q2. Al M|, EL(0] /7h) HolR?

oy

(o] /7h Holk?

Q3.+ M, ™Z(0] / 7H) HK?

Q4. Tg0]

Q5. 2IL! 0|F

Q6. Z0I5t= 24

Q7. What is your name? —

Q8. What is K-POP? —

Q9. What is your nationality? —

Q10. What is Samgyeopsal? —

I Q@Hr@ e

Answers: 1. 7t 2. 0] 3. 0] 4, 7} 0] 27 5. O] 0|27 6. 0| Hoi|2?7.0|50| Yoi|27? 8. AH[O|EO| 027 9. 20| HoIK7?10. &H&0| Hola?
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ol and Al are used to tell or ask the nationality.

ol and A& both mean “person” in Korean. @l is from the Chinese character, and
it’s a suffix. It can’t be used alone and has to be attached to the preceding word
without any “space”. Abg is the native Korean word and it can also be used as a
separate word. And you need to put “space” between the country name and AHgt.
So “country name” + 2l or A& means the person of that country.

Ex.

XM& 0]=2Ql0]of|L. (Pm American.)

EH| M= S AHEo|0| 2. (Tobi is German.)

A2 M= Ef7|2lolo. (Cerenis Turkish.)

28 M g2 AF2Ho|0f| 2. (Suhyun is Korean.)

ot M= AL Z AM2EO|0f|R. (Ann is Singaporean.)

QL. EA| M= (ROIL|OF/ E{7]) AtEfOl K.

Q2. MAIZt M= (O]= / FHLtEh 210 K.

Q3. 0f|0] M= (Ei= / EE|E) ALEHOl0 K.

M (I

Q4. Hme

/N

Q5. M=

2.8
& 2

Q6. tiL| M=

Q7. My mom is Japanese —

Q8. The teacher is French —

Ma e B

Q9. My grandfather is Puerto Rican —

l » l Q10. My dad is Mexican —

Answers: 1. 20fL[0} 2. O|= 3. Ha|#l *}E‘(or g=el)ololg. 5. = Al2f(or e=el)ololR. 6. QEHIAOF AMZ (or
QIEUAlotel)olofl K. 7. YOk % %% (or % O\OHE 8. MM A ARf(or ZZAQI)0|0R. 9. HOIHX|= FOZER|R

HElorFolSEEmollE. 10.0 *WV\) 's6o4dhidcarrots.com



~0flM means “from” and #t0{2 means “came” so together they mean “be from~".
You can use it with “County Name”, “City Name”, and “Wherever you belong such as
a company, association, group”.

Ex.
HIZ2t=0|M 2. (I’'m from the Netherlands.)
FHFHR X0 A 2 L. (I’'m from Soo and Carrots.)
WE M20A 2R, (Suyoung is from Seoul.)
AL2|EF W& E2E|Co|A 2t0{ K. (Sarita is from Florida.)
e M =AIHER0|LI0M 0K, (Kelly is from North Carolina.)

L . QL XN= (w8 /mf])olM oK.
® Q2. 00FF M= (22 /HIEE)MM 240 K.

Q3. 0t2| M= (M= / AIEL)MIAM 202,

: Q4. jOp=

5 Q5. Ea|2|ot M=

Bl osamzms

#= .  QT7.Myuncleisfrom Busan —

W- ‘L Q8. My grandmother is from California —

—4— Q9. My friend is from Norway —

Q10. My co-worker is from Guam —

Answers: 1. I}2| 2. P& 3. A|[EL| 4 EE O|R.5. 0O[Z2[Otoll A t012. 6. FHLICIOIM 2HO1R. 7. ¢fE2 FL0lIM 201K, 8.

9_
StHL|= Ae2|ZLOoto| A 2t0{R. 9. X E? Of| Al | S22 HoA 202,
WWw.Ssooandcarrots com



It is for expressing “Negative”/ the negative form in simple sentences.
If the noun ends with a final consonant (£t&!) — 0]
If it doesn’t end with a 2t — 7}

Ex.

X 7t7L otL|0 K. (’m not a singer.)

Aot= $h=210] OtL|0f|R. (My mom is not Korean.)

EAN ME S At2HO] OFL|A| L. (Ruxi is not German.)

OfL|A M= H| AL|7tOtL|0| K. (Annis is not my older sister.)
HILIA = A F|0|7} oL 0. (Tennis is not my hobby.)

g
2AY QL XE E3(0l/71) ool .
il @
.
@ Oft= 2| AH(O]/7}) OFL| | K.
1

Q3. MA|Z} M= FHLCE AFZH(O1/71) OFL Ol 2.

Q4. M2l Ml s

Q5. 42 M= Ke|A

Q6. =< M= HiE

rir

) 3 DeDd®

Q7. My younger sibling is not a nurse —

a
A

Q8. Suhyun is not an engineer —

:’); |

1
U
~r

Q9. My uncle is not a painter —

Q10. My cousin is not a student —

- (;’

Answers: 1. 0] 2. 7} 3, 0] 4. 0| OFL[O]| R 5. 7} OFL|O] R 6. 7} OFL|Of| 2 7. S2 7t A7} OFL|0fl 2 8. 49 M= AMIX|L|0{7} OfL{0f 2 9.
HES 81717} OfL{0| 2 10. AFES SH440] OfL{0l| K.
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These expressions are used to tell if something exists or if the subject has something.
A0{R and 21012 have exactly opposite meanings:

018 = Existence / Possession 810{2 = Non-existence / Non- possession

They can be used together with 0l/7} but 0]/7} is often omitted in conversations.

Ex.

mO|X0| 0 K. (There is a convenience store.)
M ZotX|7t UK. (I have a puppy.)

ottt= Zof| A0 K. (My dad is at home.)

AlEto| @10 . (There is no restaurant.)

XMe X7t oK. (I don’t have an eraser.)

’ QL (SH12 / 7}H)7} 2L0j2.
/ l.\- ¥

Q2. 2iL|= stuof (Ao / 2o R)
Q3. LIe| M= 11ef0[7t (UK / 810 R)

Q4. 3¥

Q5. M= EXt

Q6. 2Lt M= &I

Q7. Thereis no person —

2A

Q8. I have a boyfriend —

== I Q9. Jessica has a book —
Q10. I don’t have hair —
Boally

Answers: 1. 7HH 2. 012 3. 21012 4. (0]) AR 5. (7) A0 R 6. (7 §OI1R 7. AFH(0]) 101 R. 8. M= AT (7 AR 9. HAIFF
M= #(0]) A01R. 10. M= H2|ZH2(0]) §lo1
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This expression is used to order something or ask for something politely. It can be
used in various situations related to purchasing such as in restaurants, cafés, or
any store.

It’s used in this structure “Noun + &A|2” and you need to put “space” between
the noun and FMIR.

Ex.

= FM|2. (Please give me some water.)

Ab2t =M. (Please give me an apple.)

LE FAM K. (Please give me a pencil case.)

=Xt FM|R. (Please give me some green tea.)
MY =N K. (Please give me some Samgyeopsal.)

QL. (M| / ATHAE]) FAHIR.

Q2. (HE /M) FAMK.

il

Q3. AR 2F

| Q4. BHsp &

Q5. Please give me a paper —

Q6. Please give me some Gimbap —

Q7. Please give me a watermelon —

Q8. Please give me a hat —

Q9. Please give me some side dishes —

Q10. Please give me a Coke —

o~ i 4 B @ €0

Answers: 1. HIR gl 2. S8 3, FA|Q 4. FAL 5. 50| FAHR6. & TR 7. 5 FAHR 8 2 FAIR 9. BHE FAR 10. 22t FAR
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These are expressions for asking about an object.

O[#| is for an object that is closer to the speaker (this).

33| is for an object that is closer to the listener (that).

XA is for an object that is far from both the speaker and the listener (that).

In English, 32| and M| are both translated as “that” but there’s a difference in
Korean!

Speaker Listener
A:0|A| Hol27? B:JA ®olR? C:XA Holl2?

QL. (Ol / 3A / MA|) Holl2? (Close to the listener)

Q2. (OlAl / T3AI / MAH|) HallQ? (Near the speaker)

Q3. (oIl / 3A| /| MA|) Holle? (Far from both)

Q4. What is this? —

Q5. What is that? —

Q6. What is that? (far from both) —

Qr.

Q8.

Q9.

Q10.

Answers: 1. 1| 2. O[A| 3. X{#| 4. O ol 272 5. A Holl2? 6. MA H0IKQ?7. 0|AH H0oI27? 8. X7 f{0iR7?9. 24| FoK? 10. o|A Ho?
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These are used to tell what a certain object is.

Just like O[AI/ A /XA,

0|2 is for an object that is closer to the speaker (this).

A s for an object that is closer to the listener (that).

XA is for an object that is far from both the speaker and the listener (that).

You can also make abbreviations of each: 0|22— 0|21 / A2 —» A | HA2 - XA

3
Speaker Listener
A:0|Z2~0l0] /02 B:OA2~0/0g/0 2 C:HA2 ~0l0l|2/02

w ZAFEHO K.

‘ Q4. ZTroe.

§ s
~
",A

— i

% Qs Al AbElOl0l| 2.

— ’
As‘i / 7 Q7. That (thing over there) is my pen —

f‘ - Q8.Thisisa fruit—

Q9. That (thing close to the listener) is a gift —

“
' B Q10. These are new clothes —

Answers: 1. 0|12 2. 321 3. M2 4. 0|A2 5 322/07 6.0[22/0/A 7. M2 H| HWolo 8. 0|]A2 2Aojof 9. 2z
A

H=20[012 10.0| Aé *H?EBO\ONH
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These conjunctions connect “noun and noun” or “noun and phrase”.

They are mainly used with the meaning of “AND” but also meaning “WITH”
If the noun ends with a &%l (final consonant), — 2}, 0|2}

If the noun doesn’t end with a 2%, — o &

You can use 8t regardless of gt&l.

Ex.

Atotet &2 | K. (I have an apple and a carrot.)

MMl st 3281 R. (1 study with my teacher.)

30|zt AL ALL. (I buy a notebook and a pencil.)

g 256 L. (1 exercise with my friend.)

=5t HE50| MR (Please give me some dumplings and Tteokbokki.)

e QL ESO0[(eH/ 1) ENIE EOMHR.
Q2. Tofl Zotx[(F/ olF) o] A0 K.
Q3. #E(F /ot1) =50t FMIK.

Q4. ALK,

Q5. 7t Ao .

Q6. 2 At AL (*pay 26).

Q7.1go to the park with my dog —

Q8. There are a restaurant and a cafe —

Q9. I work with my colleague —

" ©  Q10.leat tomatoes and cheese —

Answers: 1. 9t 2. 2 3. 5110 4. EARE 2 (+2/9F/34) 5. RRH+2/9t/5H1) 6. St (+012/at/5ta) 7. 7 (+3,2h 5t 1) S0l 7te 8.
A (+0[7, 2, 3ta) 7t A0 9. S=(+&, 2, 5t1) L 10. E0LE(+F, 2F, 3t) A= 2H0{Q.
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Quiz Day 1-10

1. Please fill in the blanks:

S: 2HF5HMIR. M O|E2 Ar2[Ef .01
J: eHESMIR. H| o] S 2 7 . APE|EF M= ol
S: OfLIR. K= oY NI ENs
M= &Y ?
J M= ddd M= 0[=0lM APEIEF W=R?

S: Mk O|= At

2. Please choose the word that doesn’t fit in.

= Of ofL|ofl K.

A: o= ALEEB. O|=Ql C: ZE D: Hz At
3. Please choose the right answer:

Q. X2 Ao ?
A.

Al o olo| Q.

B: OfL|R. XM= X717t OtL{ofl 2
C: OtLR. X[ 271 8loi K.

D: Ul. X|7H glol .

4, Please choose the wrong sentence:
A: D0HE 24X FM L.
B: o-||:|f9|. AJIlE)‘H_Q_
C:O|AS AT X270 K.
D: 215t AHI| A0 K.

5. Please choose the word that doesn’t fit in:

Y 2.

A: ot
(S
. QHHf
D: &0t X]|

0w

Answers:
1.012 /0] Hoilg /ol /olofK /o] ofL|of /oK /o] Hojx /olofe /gtoix /oloe
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0‘!

Essay 1-10
‘Liol| CHsH 2slZA Q. Lio| 0|, #I0l, 1Y, 2=, MY, Fofsts M2, Fofsts 24,
A3, 71E S5,

Please talk about “Me” (meaning yourself). My name, hobby, occupation,
nationality, birthday, favorite color, favorite food, friends, family etc.

www.sooandcarrots.com



Day 11: ~0f| 7}2 / 22 =To Go / Come to

7t (7Lt means “to go” and 2tR (2Lt means “to come”.

Both are usually used together with the particle 0] which shows the direction/
destination.

In here, ~0f| is translated as “to”. (Please check Day 12 to see other usages of ~0|)

Ex.

AL|7t 2= &0 2. (My sister comes to school today.)

X2 Zol 7tL. (1 go home now.)

ZA| ME =AMl 7tL. (Ruxi goes to the library.)

Az M= Aol 7t (Ceren goes to the restaurant.)

LHY %1727+ 22|10l 2tR. (A friend comes to my home tomorrow.)

Practice

QL T M= (=IA/ 27HA)0H 7t K.

Q2. EH| M= (ME / AE)oll 7tL.

Q3. Mol (R2IF / ndd)of 2L,

Q4. Qtith=

Q5. MH M=

Q6. = HO|

Q7.1go to the museum —

Q8.1 go to the hospital =

Q9. My mom comes to Korea —

Q10. My grandfather goes to the park —

Answers: 1. 3|AL 2. Alet 3, Q2[R 4, SpEFAl0)| 712 5. E{7[0f 7tR 6. Stuof ot 7. 8220 72 8. Welof| 7te 9. A0tIt st=2of
2t 10. EOHHX| 7t S2lof| 7t2
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Day 12: ~0| =In /At / On (Location / Time) &

~0fl from Day 11 indicated the direction/destination and it was translated into “to”.
But the postpositional particle ~0|| can also indicate “Location”, “Place”, “Time”.
It is translated as “in”, “at”, “o

Ex.

ot X|= Zofl A0{K. (My grandfather is at home.)

Jtetofl ®o| QLK. (There is a book in the bag.)

=2 st 7tL2. (1 go to school on Friday.) *0f| after 22 is “on”, 0l after &1 is “to”
Z2of| ¥ si2? (What do you do on the weekend?)

ZA=222 o220 A0{K. (Gyeongbok Palace is in Korea.)

Practice

QL. OotH A M= (ME / 22F)0l A0 K.

Q2. 7teto| HAof (712 / A0 R).

Q3. (2e¥ /&)l st 7tL.

=

Q4. 20bxI7H 20} 2.

GG GG
SU Q5. 380 7.
. ge=ue 2lojg

%

Q7. I go to the restaurant in the morning —

Q8. An apple s in the refrigerator —

) -
o,

¢

Q9. My father is in the kitchen —

-
-
e ¥
)
e
S

Q10. My older sister goes to the hospital on Monday —

21012 10. 2lLf(or fFLh)= 2ol HRloll 7ia.

Answers: LA 2. 012 3. 2R 4 S0 5 Lol 6. SHEF A0l 7. OLAof Aol 72 8. AtatE HE DO RL0{R. 9. Otth= Fgtof|
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Day 13: Verb in Present Tense 1: S}C} Verbs

SICt means “Do” and it’s used together with NOUNs related to actions, transforming
them into VERBs. In the present tense, 8tC} becomes — dliK.

28 means “exercise” (noun). 2FSICE means “to exercise” (verb/basic form).

In the present tense (the casual honorific form), it becomes 2F81K.

Adjectives ending with SICt are conjugated the same way as I|Z3siCt — |2
(tired) .

Ex.

FESICH—> S22 (to study)

HAIZE MEe Lol Q. (Jessica works.)

NE M= S281. (Shanon takes a bath.)

oH= of&of| M43l 2. (My mom washes her face in the morning.)
Ml mE= Lol 253K, (Ceren exercises on Sunday.)

" W

Practice

)

Ao

s QL 2WIE Q) (+A0H SH).

¥ T Q2 T e (QIABITH QlARIR)

1 "}J Q3. L2t M= EH| Woi|A| (Hetstrt / H ek 2) (*pay 23)
e

l Q4. LY AIE0| Ao R. B3|

ﬂ Q5. obElojol 2.

& Q6. 20| glof .

Q7.1 cook on Wednesday —

Q8. I work everyday —

Q9. I clean on Sunday —

Q10. l understand —

Answers: 1. +=F8lR 2. 2IAIHR 3. TR 4. BEHR 5. FASHR 6. 2TEHR 7. =20 R2[312 8. Y L 9. LYo
HAHR 10. olshs 2.
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Day 14: Verb in Present Tense 2:
ot/ | 2 Verbs

The basic form of Korean verbs ends with Ct such as ZC}, HC}, 7tC},
The following verbs transform into the present tense using the Ot/ | 2 form,
according to the rules below:

First take off C} (basic form).

This only applies to the verbs whose stems end in the vowels | or L : “Z” Ap” <27,
Rule 1. If the last syllable of the stem ends with a consonant, add 0t

ex. ZC} (to sell) — ZOIR / QtCt (to hug) — ¢totR

Rule 2. If the last syllable of the stem doesn’t have 2t (final consonant), put F &
ex. £} (to see) = EIR / 2L} (to come) = 242

Rule 3. If the last syllable of the stem has no 2t& but already has the vowel I, just

put
ex. 7tC} (to go) — 7t2 / AFCE (to buy) = At
o y
Practice
* ¥ %
QL I A (202 / ¥otg)
ﬂ Q2. 48 M st (82 /%)
:é Q3. 2A| W& gtmof| (7kR / 7totR)
@ Q4. OIItEQ| (to live: &LH)
P\ Q5. &l (to come: 2L})
:3 Q6. kx| (to buy: AKCH)
- @ Q7. I know Kristina = (to know: Tt)
r Q8. Isell abook — (to sell: ZCH
E M Q9.1 go to the park — (to go: 7tCH)
?ﬂ g P
3 Q10. I live in Seoul — (to live &CH

Answers: 1. Q0[R2 2. 512 3, 712 4. 4012 5. 9/ 6. AR 7. 92| AE|Lf flé;%) 2l0tq 8. () LopR 9. S0 718 10. NS Mot
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Day 15: 2/ = Object Particle

It’s an object particle attached to a noun, used to express that the noun is the object
of that sentence.

If the noun ends with a final consonant(2%!) — &

Ifitdoesn’t end with a 2t&l — &

In casual conversations, /& are frequently skipped.

Ex.

$H=20{E 328K, (I study Korean.)

228 ALR. (I buy a lemon.)

=ZOIHE ototR. (I hug a teddy bear.)

Azl M= HSHE 2LR. (Ceren sees a movie.)

29 ME I AH2Eg 2otR. (Suyoung knows that person.)

Practice

QL =8(2/3) S,

Q2. EEtik (2 / 8) 2ha.

Q4. 72 (to watch: ELC})
Q5.2 (to sell: ZCH
Q6. ZA| M (to find: 21Th)
Q7. | buy cosmetics — (to buy: AFCH)
‘°‘ Q8. 1 like the color yellow — (to like: ZOFstCH
| Q9. I hug my mom — (to hug: @tch)

o=
ﬁ Q10. Annis grinds coffee — (to grind: ZCH)

Answers:1.22.£3.24. E 825 2 T0tR 6. E H0I2 7. 3L ES AR 8. =2HHS Z0teiR 9. FOIE 210t 10. OfL|A M=
F{I|E Zot2
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Day 16: Verb in Present Tense 3: {2 /12 &

The following verbs transform into the present tense using the 0{2 /1 & form form,
according to the rules below:

-Take off C} (basic form).

This only applies to the verbs whose last syllable of the stem doesn’t have the | or +

Rule 1. If the last syllable of the stem ends with a consonant, add {2

ex. HC} (to eat) » HO{R / KL} (to laugh) = 20|

Rule 2. If the last syllable of the stem doesn’t have &%, put 1 2 (become H{R)

ex. Lt (to give) = F K / I RLt (to learn) = HIY R

Rule 3. If the last syllable of the stem doesn’t end with a 2+& and already has 1 or
i, just put &

ex. MC} (to stand) — MR / AL} (to light up) = HR

Practice

i. QL UES (FR/F2).

Q2. XIM7HE (HotR / HOK).

6 Q. == (7I1”2/AK).

:»,.;_,@; . Q4.90j= (to learn: HiCH)
7 =8
Qj Q5. o2 (to memorize: /L)
Ce Q6. EH| M= (to wash: 4101R)
‘< | Q7.The baby smiles — (to smile: 2Cf)
% Q8. wear clothes — (to wear: L)
J Q9. I mix milk and flour — (to mix: MCH
b
if‘{:%» Qﬁ,\
‘Q‘;i Q10. I pour water — (to pour: 2EH)

Answers: 1. # 2 2. HO{2 3. AR 4. HIFR2 5. 222 6. AR 7.017|= 0|2 8. 22 Y02 9. 2R LIIRE 402 10. 28 B0k
www.sooandcarrots.com 27



Day 17: ~0j]A{ = At/ In / On (of action

It’s used to indicate that a noun is a place in which the verb (an action) occurs.

It is important to differentiate between the usage of ~0l and ~G|A].

Likeyou learned in Day 11 and 12, ~0f| is usually used together with the verbs 7}t/ C}
-which have a destination- and 4Ct-which shows existence, location, possession.
~0llM is used with most of the other verbs.

Ex.

HEEO|M HAES EtR. (I take a bus at the bus stop.)
HAZO|M 2S8HK. (1 exercise at the gym.)

BHSHHO A RS ALR. (I buy clothes at the department store.)
TME0A S 202, (I read a book at the library.)
SAEM =K. (I swim in the pool.)

Practice
QL. st (ofl / 0l M) 7t L.
Q2. st (ofl / 0l M) SR K.
Q3. Al (0l /ol M) = 2S4S HO Q.
Q4. 24 (to walk: At245tCt)
Q5. gatt (to see: L}
Q6. AFRA (to work: 23t}
Q7. Ising on the stage — (to sing: =2HstCt)
Q8.lcryathome — (to cry: SCt)
Q9. I sleep on the couch — (to sleep: AFCH)
; Q10. I dancein the club — (to dance: %L}
]

Answers: 1. 0f 2. Of| A 3. Of| A{ 4. 0| A AAHBHR 5. ol A HSHE 2R 6. O A LR 7. PLHOIA =2isi R 8. ZloA 20{R 9. ALtoj| A
2 10. 2N FH
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Day 18: Verb in Present Tense 4:
Irregular Verbs

The following verbs transform using the indicated rules.

Rule 1.If the last syllable of the stem is 2, remove “—”, then put the g% 2

ex. 2L} (to push) — 212 / XF2L} (to cut) —» HEIR

Rule 2. If the last syllable of the stem has “— "and no &%l remove —and put 1 2
ex. MLt (to write) = MK / 11C} (to turn off) = THR

Rule 3. If the last syllable of the stem has “ | ” and no 2 &, put 1 2

ex. OFA|Ct (to drink) = Ot R / ZEZX|Ct (to teach) = 7I2M

Rule 4. If the last syllable of the stem has the &t& “c” butno | or -,

remove “C” then put 2

ex. ALt (to walk) > Z0{R / EC} (to listen) > SR

Practice

QL. AIolM (0lAR /017|K).

@

Q2. &

ujn

(0N 2 /O R).

‘B

/l
-
»
eg

Q3.0|ES (REla/=8K).

Q4.Ze (to walk: ZCH)
A
@ 0 Q5. M=E2 (to choose: 2L}
i

Q6. HX|

(to write: ALY

i

P-4

Q7. lwear a hat — (to wear-hat/cap: AL}
Q8. I listen to KPOP — (to listen: ECH)
Q9. | teach Japanese — (to teach: 7t2X|CH)
Q10. I cut my hair— (to cut: X=CH)

Answers: 1. 0| AR 2. 0t R 3. S22 4. 20|12 5. 212 6. MR 7. ZXHE M2 8. Z|0|HS 50{2 9. Y2015 7121 10. H2|E Hate
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Day 19: Native Korean Numbers

There are two Numeral Systems in Korean Numbers:
Native Korean Numbers and Sino Korean numbers.
Native Korean Numbers are used for age, hour, things, people, animals.
Also, Native Korean Numbers are usually used together with counters.
1 St 6 oA 11 GStLt 60 ol
2 = 7 Uz 20 A= 70 ds
3 A 8 £ 30 ME 80 o=
4 ul 9 o= 40 ot 90 ot
5 CHA 10 = 50 g 100 =
Practice
Q1. Atxf (StLt / A1)
Q2. 2HIX| (£ /HA)
Q3. M (Ul / CtA)
Q4. Zotx|
Q5.4
Q6. 28t
Q7.17—
Q8.35—
Q9.99 —
Q10.63—

Answers: 1. StLE2, & 3. ChA 4. M5, Gl 6, SHLE 7. Y5 8. A 2CHT 9. 0F=0FE 10. oAl
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Day 20: Counters 1

As you learned from Day 19, Native Korean Numbers are usually used together with a
counter. There’s one IMPORTANT RULE when you use it together with counters.
SiLt-> L E->F M MUY, A > AR

This applies to only these four numbers.

If you put & before the counter, it becomes “What/How many ~” such as & 7H, & &,

AR

1. 7} (Counter For Things): You can use it for almost anything. Akt 8t 7, & 7H, M| 7H...
2. (Counter For Bottles): 22+ 4| 8, A &, o441 ...

3. & (Counter For Papers, Thin Thmgs) 0| °'-'- &, Oﬁl'a:d otz ...

4. & (Counter For Age): & & Heh & HE A *':' &

QL H #0|o? 2204 (T / &)0l0|K.

Q2. &% o (H /M) FAHR.

Q3. OFFofl HiLtLE &= (Z/ 7H) E Hoi K.

Q4. ZME EZL A| = AR,
Q5. FA ¢t N 7t OFE AlAL 2.
Q6.0{SH2 S A= F [0 L.

Q7. Please give me three bottles of water —

Q8. | eat two pancakes —

Q9. My mom is 56 years old —

Q10. I buy one necklace —

Answers: 1. &2, 3 714, &5 & JH6. &7 2 ot FA Q8 HH 0|3 F HS HUOR. 9. Hot= 2104 40[0R.10. 520| ot 7HE At
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Quiz Day 11-20

1. Please fill in the blanks:

( N
J: EH| M|, ofC| 7tR2?
T:XlZ Az 7. EME S CHIL ME=R?
JN=H 7te. & imi 28 ) G R B 35
T: RAE 32da?
J: %t ZEHQ,

. J

2. Please choose the word that doesn’t fit in.

ME0IM

A: #0t2 B: 28912 C: €dlie D: 7t

3. Please choose the right answer:

( )
Q. HLILE R 71 A0{R?
A.

(8RR,
;L7 A0 K.
HILHLEE Mo,

HELILE =M.
\ J

o0 w >

4, Please choose the wrong sentence:

oA 2ol 2.
St M EHEE HolR.

Qomx®
0R 02 of 08

5. Please choose the word that doesn’t fit in:

( )
2 Ho Q.
A: H|=Ig}
B: ™
C: H50|
D: A A4
\ J

Answers:

Lo /ol /el /ol /o /oA /Bl /2
www: sooandcarrots.com




Essay 11-20

2|22 L&ofl CHoll LoHFM 2. WUo= FAR
20| AoiK?

Please tell me about your daily life. What do you do during the weekdays? Do you
take a rest during the weekend? Do you do anything regularly?

o
OF

12?7 FHO= +0R? FAXHQZ 5=

www.sooandcarrots.com



PN

}Z (Counter for Small and Thin things): HE o Xt2, & X2, b Xt2]...
(Counter For People): 217 4| &, CHI H o4 &F. .

(Polite Counter For People): &5 ¢& 2,0 2,015 &...

2| (Counter For Animals): 10| & 0Ot2|, &t 02|, % 0t2]...

E (Counter For Trees): LIT EA| 22 1| O

0| (Counter For Flowers): 0| €041 £0|, 2 & &0, ot
(Counter For Books): 2M* AR M AZSHH A
(Counter For Time, “o’clock”): $t A, & Al Ml Al...

I (Counter For Hours): U| A[ZH T A|ZE o440 A|ZE, ..

> >rHop |d S AR

\J

r

QL. =H = (Xi& / of2)) & X[ = H FAHK.

S ¥
<= ‘4

Q2. &0 L&

rot

(12 /802 58 AR (22 /30)7} Aojg.

Q3. 10| 3t (H /O12|) 7|21 4 0L (*Day 26).

E Q4. THY *H Bt S 8ol
% |
Q5. 3tR0f| &= 23R
|
S5
_H Q6. Tltet U off 2tLte.
ﬁ;‘
- Q7. Fof| 23! *171 oAl O] @M R.(*2AICt: honorific of 2CH)
-
ﬂ Q8. There are three students —
ang '

Q9. I buy two roses —

Q10. I go toschool at 8 o’clock —

Answers: 1. Xt 2. 12, &0 3. 012 4. 2 5. A[ZE6. Al 7.2 8. 84 A 0| 2012 9. 0| = £0[Z AtR 10. O & Alof] Stuof 7t
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They are based on the Chinese number system and used for money, phone numbers,
date, address, year and together with Hanja (Chinese derived) words.

6 and 10 are pronounced as & and Al before & (month): & (June), Al 2 (October)
0is pronounced as & in phone numbers.

1 ol 6 () 11 et 60 sS4
2 0| 7 = 20 oly 70 Yy
3 A 8 ) 30 A 80 o
4 At 9 T 40 ARl 90 T4
5 Q 10 A (Al) 50 (=R 0 A (3)
Ql. (2/%)
Q2. (Ol &l &/ &HA})
1 Q3. (K& /AlIE)
Q4.
Q5.
Q6.
N ks
13 Q7. April, 13th —
%2. Q8. June, 2nd —
‘2"' Q9. 20| 2AR|0R? (Nov, th)
o] Q10. Hotof|2? (8,500 won)
8,50081

izl

Answers: 1. 2 2. AMAL3 Al & 4. AEA0[5. MS 6.0/ 7. AFE Al 2 8. R € ol Yo.

www.sooandcarrots.com

2 AF oo 10. EH 2 20j0l|R.



oflAl, stell, Ml all mean “To” which indicates that the Noun before them is “the
recipient or target of a certain action or a thing”.

0l is generally used as the basic form.

ot is the more colloquial, casual form.

Ml is the honorific form.

Ex.

oA MX|E M. (I write a letter to my friend.)

ZA| Mt MES 7K. (I give a gift to Ruxi.)

MHEH| JHSZWHR (I call my teacher.)

AL|oflAl 20{EtR. (1 ask my older sister.)

o|20f|A| 2|2 Li|0] =& ZotK. (I sell lemonade to the neighbors.)

=
oo Q1. ZOHHX| (| / BHEl|) Bt= 2 =R (*=2|ck: honorific of ZCH
CF
52 Q2. SH(H /olH) HAIXIZ ELHR.
S Q3. TH(H / BHEN) ZHAlE 32,
- - t
[ D Q4. A& (*Xk:tea, E2ICt: to give)
c Q5. &+ (*2: ball, #X|C: to throw)
Q Q6. 54 (*FIBICE: to call)
o 4, Q7. | give flowers to my girlfriend —

\ Q8. I give a ball to my cat —
®

Q9. I talk to my boss — (*boss: &HAH)

Q10. I send a parcel to my son — (*parcel: 2 )

Answers: 1. 711 2. Of| 7| 3. BtEll 4. | XIS E21Q 5.017|(etEl) 3S SM R 6. off | (BHE) Tt R 7. oI XFEI ol 7| (BHE) S F K

8. YO0l A|(etEll) S FRQ. 9. HAMH OW\WMééﬂwcﬁ%&éToilaig %ﬁHE



» o«

Itis a noun particle translating to “means”, “way” or “method”,

If the noun ends without Et%! orthe @&l is @ - £
If the noun ends with Bt%l - o2

Ex.

HLZ HMX|E WL, (I write a letter with a pencil.)
X712 g uoj 7tL. (I go to school by bus.)
=712to 2 H2 HO{R. (1 eat with the spoon.)
ZOR £US E0{ K. (I take a class via Zoom.)

CiL| M HOR 42 12 Q. (Denny draws SuSu with a pen.)

SSNL QRN NSKH(E/22) HA Jte.
/ n Q2. 2(2/2=2) 122 a8e.

53& Q3. OIEAZL 7H%l(2 / 22) HE|7teE EetR.

(*&t0of| ZtC}: to go to school)

@ Q4. XI5

[ J

(*stCt: to work)

D Q5. AFH

Q6. &

(*22 OtAICE: to drink water)

Q7.1 eat dumplings with chopsticks —

Q9. linvite a friend via email

U
b
f Q8.1go to Japan by airplane —

Q10. I pay with the card

(*pay: ZHIStCH

Answers: 1. 22 O2 3 24 2 3tu0f 7tR.5. 2 LoiR 6. 02 S S 0IMR 7. A/ E BHRE 90iQ 8. H[H7| 2 L=l 7t

9.0|02 FPE ErHhG 10
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If you want to say “What time is it?”, you can say & AlGR?

To answer that question, you use ~A| ~&.

It’s an expression to tell time. Native Korean numbers are used before “o’clock” (M).
Sino Korean numbers are used before “minutes”(&).

*You can say ¥t which means “half” instead of 302 (&4 &)

“You can use ~0f| with the meaning of “at” when telling time (*Day 12)

*AM: @ PM: 2% When: 2|

Ex.

X2 % Alod|27 $HA] 2H0]0) K. (What time is it now? It’s 1:30.)
o4 A AN 20f| LOo{LIR. (| wake up at 6:45 AM.)

3Al 248 — M| Al O|HAL &

TASTRE > dZ A HE &2

9:35PM — 2F OfF A| &M 2

QL. F Alofl &0l 7tR7 (A Al /& Al)ofl =twof 7te.

! Q2. X2 R AMHR? XIS (F Al 28 2/ F Al AHY 2)02.

P Q3. 9H 25327 9% (M Al 4A /3 A 0[4H 20 2582
Q4. off Z|Atof 7.

Q5. of TI7t ek,

Q7.1do my homework at 5:25 PM—

Qe. ol Xt
o
|

»§ Q8. | eat Bibimbap at 12:30 —
2

Q9. I swim at 7:20 AM —

l— Q10. I call my cousin at 3 PM —

HE6EAYRT. 22 O A 0lY 2 20]

Ol 10. 9% A Ag A0 et

A
>
o
o
e
e
4n
>
0
e
[iﬁ
£
=
=y
e
1z
1o
E
:
é}o 5lis
o
o]
Q)



~11 H0{R is used to express a speaker's wish or hope to do something.

It can only be used with the subject | or You, not with the third person.

To express a third person’s wish / hope / desire, you should use 2 0{3iR.

The form is simple: Verb stem + 11 40{2 / 03| (ex. HCI - HD H0{Q/A0{81Q)

Ex.

Zojl 7t1 Ho{R. (I want to go home.)

L= =1 HojsR. (My sister wants to play.)

2 "0 Hoj2? (What do you want to eat?)

O3 M= HHFEHE 210 Hofsli . (Mark wants to have a computer.)
MNe 20]2 712 At 408, (1 want to buy clothes and bags.)

S QL YDE AW (HolR / AoiBR).

a) =

E:-' Q2. 252 22 OHA|T (A0]R / AofeiR).
(2]

Q3. HAXF Ab?{ 2 (H0R / Ao R)?

;3@

X4 Q4. HH1IR, SleE A
(Hf: Q5. 2Y2IR. A2t 824E
G oo ume mmoln ue (41ck torest)

Q7. want to meet Suhyun —

A
W Q8. Ruxiwants to cook =
'k\:-"
= Q9. Tobi wants to take a photo —
"
Y .
LS | Q10. Do you want to write a book? —

Answers: 1. 20{81R2 2. 202 3. HO{R 4. H1 HO{R 5 DA HO{R 6. #110 HO{SHR 7. 3 M S LD H0Q 8. FA| M=

RS S ww . sooandcarrots.com



This expression is used to politely request an action and to give directions or orders.
*If the verb stem ends with a final consonant (2t&!) — verb stem + M2

*If the verb stem doesn’t end with a 2t &l or the &%l is 2 — verb stem + M|&
*irregulars : ECHto hear) » E2M 2/ ECk(to help) = =AM

Ex.

of7] QM. (Please sit here.)

XM 2M|R. (Please come slowly = take your time coming)
MHZ EOMR. (Please listen to the explanation.)

0|Z2Z JtMIR. (Please go this way.)

100% 2 EMIR. (Please look at page 100.)

V9
W 1 2us (@RstoNe) 2HEHL).
L Q2.ME (oM /ML),

@3 Q3. 852 (oM R / TN K).

e ¥ Q4. Ztat (*%tCH: to hold, to suppress)
Q5. Am= (*£C}: to see, too look)
/~\
Q6. 2% (*2 O MLt to stand up)
=,
&b~ Q7. Please buy this book —

'//
W\

Q8. Please write your name —

-

o

Q9. Please just forget it =

Q10. Please drink this tea —

Answers: 1. ZEGHHR 2. ¢{OAHR 3. FMIR 4. HOMR 5. EMR 6. YOIMAR 7. 0] S AMIR 8.0/§S MR 9. T SloMR

10. O XH= DHAINIR.
www.sooandcarrots.com



It’s used to express the intention of the speaker. The speaker does what is stated in
the second clause in order to achieve the plan stated in the first clause.
*If the verb stem ends with a final consonant (£t&!) — verb stem + 22{11

*If the verb stem doesn’t end with a 2! or the &l is & — verb stem + 2{11
*irregulars : ECHto hear) » £22{11 / FLH(to help) » =221

Ex.

Aot A| MSste{a #ZO|E ALR. (1 gift some earrings to my mom.) *Afct— Afz{ 2

HAE El2{D UM A0{LIR. (To take a bus, | wake up early.) *Efct - Etz{n

M oloB| 1 = A2H0]| 7tR. (To read a book, | go to the library.) *eict— ¢joain

ZHE Hog{ UATof| 7t2. (To eat sushi, | go to a Japanese restaurant.) *#ict— Hoz{n
BTS =2iE E22{1 REHE F0{R. (To listen to BTS songs, | open YouTube.)

') Q1. 3t=20{= (H122{ 1 / HjS 22| 1) Soo Korean HES T=3HL.

Q2. HIX|E ({1 / Zod{ 1) EAH0| 7tR.

‘25“' Q3. (W2{:m /Mo D) HI%EE AR,
.'\’

-9
. Q4.3 AlEOtS S LA Q. (*HLk to get)
it
a Q5. &M £HH|E HO K. (*xtct: to sleep)
o
e Q6. GtE HIEEAE UK. (*2Ch to see)
.LuQu]] : Q7. EYHME OF=20]| 7tR. (*AtCH: to buy)
[N |

Q8. To find the wallet, | go to the police office —

(: Q9. To make Kimchi, | buy some cabbage —

Q10. To drive, | take an exam —

Answers: 1. B ®2{1 2, B2 3 WoB{1 4, (0241 5 Xt2{1 6, B2 7. Al2{1 8. X|YS Hoein ZEAM| 7te 9. XIS

AR W s00andcarrots.com



It is used right before the noun such as in 2 Atat(big apple), 2421 2tti(handsome oppa).

Just like with verbs, adjectives’ basic form ends in C} like 2T}, Z47|Ct and they conjugate like this.
*If the adjective stem ends with 28 put 2 : =Ct — =2, FCt —» &2, Gt > H2

*If the adjective stem has no @#l, put L: 3Ct— 2, WECH— @2 LICE— L

*If the word ends with UC} or €ICt, just put £: HQACH— SHAlE, J4QiCt — M4gle

*If the stem ends with the 2%l H, take off & and put 2:

HELE = HH 2, 71— IhR2, A AL - AFH AR, 0{EL - 0 FR

Ex.

W= E7|2t =21 HE0|7} ZF K. (The fast rabbit and the slow turtle are racing.)
BHSHE O A o2 HEX| S ALR. (I buy a pretty ring at the department store.)

A5t O XHEIFE AT A0, (I want to make a good girlfriend.)

52 ZoAM &1 HoQ. (I want to live in a wide house.)

7tnt2 0|RE =2 MIR. (Please help your close neighbors.)

Ql. (2 / 2l2) 2ME Z2tR. (*4ck easy)

V=

9=

- S

;1 Q2. Y0H= (HXI2/ BIE) AFZHO|O| K. (*sixICk: cool)

©
w
[
ro
~~
=3

=) X2 OISR, (*4Ct: bright)

B Q4 =17|E Q2|8 Q. (*uULCt: tasty)
Q5. HE 719 8]. (*2ct: big)
Q6. FLi= A0 A0 HNOBH L. (*ot=2EtCt: beautiful)
' .
;» - Q7. | hate complicated problems — (*complicated: 2&3tCH
Lo
oV
+® (38 My dadisa brave person — (*brave: 823ich)
i
Q9. I buy an interesting book — (*interesting: MO|2ACH)
g Q10. I meet the same person everyday — (*same: ZtCH)
f

Answers: 1. #/2 2. %17 3. 22 4. U U= 5. 2 6. OFSCH2 7. S&fet 2XIS 40{8HQ 8. Oftth= 825 AIZf0[0R.9. MO|U= MS AtR.
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It conjugates almost the same as verbs (*day 13, 14, 16, 18)

1. If the last syllable of the stem has the vowels | or L,

+thereis a BH&l add OtR: RCt— 5ot / EiCt— gtote / &Lt — R0t
+thereis no BH&l put &: MLt — M2 / HIMICH — HIMR

2. If the last syllable of the stem doesn’t have the vowels F or L,

+thereisa Bt& add 0{R: HCt— Ho{R / 2Lt —> 2o / FHLI > FHOR

+HHEl s B, take off B and put ¥2: ECt— £ / G - HAHRIR

+4HAl s 2 remove “—”, then put &% 2 and | 2: CI2Ct — 2t / WECE — Wate
+the stem ends in “—”, remove “—” and put 12 or } R: O}ZCt — OfNtR / 3Lt —> AL
+the stemendsin “|” put 1 2: R7|Ct—» AR / S2|Ct— S3 L

3.5t = 8 R: ZE3Lt— TR / EIICE — W= / MGt — AT
UCH = AR / Ut — Lo 2: UAUCE — AAN K / TO| AT — Ol 2

rH

o -

_g Q2. M7t H B (R0t / HOR) (*wrh: low)

ol E He. (IR / £HRK). (*&Z=Ch sad)

a
a

o] W T

Q3. MLt k2 E SO . (A=K / #=oIR) (*d=stct: happy)

o’

Q4.0| 22 & (*H|MICE: expensive)
X
d Q5. Mz|7t (*otC}: sick, hurt). HOf| 7tL.
! Q6. G317t (*740IQLCE: uninteresting). (*Z2|Lt: sleepy)
|
{ Q7. My mom is beautiful = (*beautiful: OFEEICYH)
5.3 Q8. This puppy is cute = (*cute: FIGCH
WA
"; Q9. This story is funny — (*funny: 27|ct)
- 4
. ’_"I Q10. That student is rude — (*rude: 2a[s}ct)
[~

Answers: 1. 1R 2. 50tR 3. =61 4. H[M 2 5. 0t 6. 0|01 R, 2R 7. 20H= OFSCHRIR 8. 0] ZOHK|= AL

s ol AR iy wiw 'sboandcarrots.com



Quiz Day 21-30

Score:
1. Please fill in the blanks:
A: 38 M, LHY EH| MO| MU0|0|R. EH| M PSS F1 HOR?
S:XMe 23t o M = 2 1 0. OlL|A ME=R7?
A: M= FHO2 ZOIX| o £ xz1 4ojQ.

S: 702 ZOHK|R? ME 7|2

2. Please choose the word that doesn’t fit in.

2 otuo 7tL.

A: HA B: X7 C: E= D: X|5HE

3. Please choose the right answer:

Q. R Alofl ZtE[0l| 7tR?
A.

A:XIZ2 €& Al M2 20(0 K.
B: € 7Hofl THE|O)| 7tL.

C: ObZ Al HFoil mHE|of| 7tR.

D: HE| FAK.

4, Please choose the wrong sentence:

o0 wx
0y 2 nE re
> N Y]
=
N
il
L]
=
fo

5. Please choose the word that doesn’t fit in:

21 otuof 7te.

A:t=0{E Hi?
B: X7 E ThL}

C: MMH 2l ALst
D:UES %

Answers:
1. Ol Al(or BtEll) / &OI /M /OF2 / 1 Ao @

www’sooandcarrots.com



Essay 21-30

HAS ZotsliR? S5| Fotst= EAaTt A0 Q? F05H= 220i| CHeH 0|oF7[SHFAMIR.
Do you like to travel? Do you have a place that you especially like? Tell me about
the place you like.

www.sooandcarrots.com



Meaning

"ﬂ

L)
=\a

¢l

4
<
¢

5

>
3

% i
;
+L
ar

2 DO

;:,gy
Gl

)

Big
Small
High
Low
Short
Expensive
Cheap
Fast
Slow
Nice(good)
Bad
Tasty
Not tasty
Handsome
Pretty
Cute
Lovely
Smart
Same

Different

Basic bl ¥oy | AI- 'cg %AI'

=o (ot/o12form)
Act =2 712
At &2 ot
=Lt =2 =0te
Lt =2 ot
EHE, B2 more
HIMC} H| M HI R
MECE u s M2
ek = Ct Hdh = wate
2|t = e
&SIt Aot g ied
Lpuect L Lt 2
SERUCH SiRl= oiloje
okelct oiele otelole
7|t 2zl AT
Of| Be C} of| 22 Off ] =2
HELt HH=2 HH/UR

ML ML A2 YR

sEjct  SE3 0 £EHe
2 ze zore
Chzct Ct2 rate

Example

e 48|/ 24807} Lo,
&S 2| / otal7} Fote.

HIYE 2 /Jpkol iR,

7042 ot7| / FH=IE{ 7} 7o
L.

ARAZ 2 AL/ R AEA
Y.

www.sooandcarrots.com



¢t is put before verbs or adjectives. It means “don’t” for verbs and “be not” for
adjectives.

2 is put only before verbs not adjectives.

It expresses the capacity/ability or when it’s about a situation, it means “can’t”.
When they are used with 8tC} verbs, they are put right before StC} such as 2& ¢t
SICH 23 X StCh. Not o 2S3ICH/ = S%OHJ

Ex.

HX|E o L. (I don’t write a letter.)
28 2 32K, (I can’t draw a picture.)

0| 7tet2 9t 7R, (This bagisn’t big.)
SX2 A0, (I can’t walk alone.)

RES 252 dlQ. (I don't exercise today.)

¥4 Q1 omme. sl (9t 712 / £ 719).

P
Q2.0| 5ZH0|= (2H ot / 2 ot ).
ﬂ‘h Q3. 2&Yolollg. Stmof (o 7R / £ 71K).
¥
£y s
Q4. off ofElof (M4~ 2t Bl / oF M3l R)?
‘ﬂ-_ Q5. F%otL. (*to study: BE3tCh)
:F Q6. =0| gloje. MES (*to buy : ALTH)
m Q7. SA2 (cute: 1LY
g Q8. This computer is not expensive — (*expensive: HIMLH)
Xy .
I Q9. The post office is not far = (*far: ©rh)
Q10. I can’t sell this ring — (*to sell: &Lt

Answers: 1. ® 7t2 2. ot Oiltt 2 3. O 7k 4. A|3= O SR 5. K et SR 6. R AR 7. O A0 8. 0] ARE = o HIME

s eH=s e R ZAgWE Sboandcarrots.com



This is used to connect two <verbs/adjectives/sentences> in one sentence.

This can mean both “and” just by simply connecting two different verbs/adjectives/
sentences,

or “and then” which shows the order of two different verbs.

Form : Verb stem / Adjective stem + 11

Ex.

QL= 5t o 2, (My sister is smart and pretty.)

Ob&loj| st 3twof| 7tR. (In the morning, | swim and then go to school.)
EA ME Lot Hzl M= BEHR. (Ruxi works and Ceren studies.)

MUS HD AR (| eat dinner and then take a walk.)

O] M2 xHO|A D #[R| L. (This book is interesting and easy.)

0 ousae @a)oiem) arelole. (uk spicy
(‘ J o|& o|ls S ol P
— Q2. (AFRISH [ AFRISHD) 2 UMK, (*AFISICE to take a shower)
lT Q3. ARZIEF ME MES (FF/FD) HL| ME MES Holg,
T s b
= . = (*Zr7|Ck handsome / HELE: cute)
v
L
f;*l Q5. 0182 Shulof| 7+, (*4ct: to eat)
.,;g Q6. K= s (*7t2K|Ct: to teach / BHRLE: to learn)

Q7. Nora is beautiful and nice —

D

/ Q8. This pen is small and strong — (*strong: EE3ILH
Ta .
Q9. I drink alcohol and dance — (*to dance: Z%L})
im
< j Q10. I love my mom and my mom also loves me — (*also: ~E&)

»

Answers 102 ARSI 3. 10 4. F7|0 AR 5. I 6. 712 X| 10, BiARQ 7. =2 M= OFSED {612 8. 0| H2 X1 EEMR 9. &2 DA

EHE 10 HOE AEehn g AE AR W . so0andcarrots.com



It transforms adjectives into adverbs. It adds a description, method or the degree of a

certain action. Itis attached to the adjective stem.
£Ct/ 2|2 (Easy) = &4l (Easily)

WCH e (Short) — %A (Shortly)

ct2ct/OhE (Dif‘ferent) — Ct23| (Differently)

Ex.
A UBHM|R. (Please speak loudly.)
WA MX|IS ML. (I wrote a short letter.)
xh’:.*71| HHESHR. (1 refuse coldly.)
Fl M 7F HEAH 201K, (Jin smiles cutely.)
2 MHA ZotL. (I sell clothes cheaply-at a cheap price-)

-

3 LoE=e
] Q

|
w Q2. OF&IO|l (S| / =XIA|) LOILIR. (SCt: late)

M= (2iget/ A8sHA) 2. (o

SICH wise, 28 3IL: to decide)

Z0{ Q. (&I} easy. ZC}: to solve)

OMR. (7

tZCt: close)

Fery
-ﬁ"”. p
Cs Q3 M w9/ ) 2% 2XE
i on e e
x.i. dbe » ol c T =
=Y

& Q5. A=0l0le. 22

QO MIR. (*msEstct: warm)

Z2 K. (Lt long)

H Q6.MZ|E

= Q7. EO0F M= 242

Q8.1 live simply —

HO{ Q. (*3telCk: delicious, tasty)

(*simple: ThastCt)

(*light: 7hch)

Q10. I work smartly —

(*smart: EE53tC})

Aol

Q Q9. I dress lightly —
—~1

o4}

Answers: 1. S SHA| 2. “W

8OO EAECArOTE BEy e o 71 2o 10 s5oi 2oe



It means the length of a certain time / action (from when it starts until it ends).
It can be translated as “during”, “while”, “for”

Form: Noun + ¢t/ Verb stem + = S¢t

*irregular(2 verbs) &Lt - Ats ¢t (not = S¢) SCt—» = 59/ "Lt - I ¢t

Ex.

UZxA SOk 4SS S Q. (For one week, | travel around Seoul.)

HA2 HE S0t 0|0k7|8H Q. (While having lunch, | talk.)

gtst ZQt HO{E ZH K. (During the vacation, | study English.)

M7t Qelsts St HASIM K. (Please clean while I’'m cooking.)

ot e S0t 2|20 41 HO{R. (I want to live in a foreign country for a month.)

QL. 2lojel W7} (B / k) S0t K= AsHL.

Q2. M7t 2%42 (E=/25) 3 7M.

|le
~
i‘;“i Q3. (Tt A2t/ 51F) s8¢t HE 8 Ho K.
L)
s Q4. =2t M7} SOt 81 ME Xt (*Ystct: to work)
m Q5. et=0f Set O E 2t iR, (*Art: to live)
Q6. TVE St A Z HO{ K. (*2C}: to watch)

Q7.1 exercise for 30 minutes —

Q8.1 do not eat during the weekend —

Q9. I learn Korean for two hours everyday —

Q10. I listen to music while going to school —

>
>
2
=
[0}
@
=
H
i
]
mn
i

[2h4. LBt=5.AH= 6. 22 7.302 52 2832 8. 2 S0t ¢F H0{R. 9. 0fd & AlZh St &t=0]

“ www.sooandcarrots.com
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It is used to request or order not to do certain actions. It can’t be used with O|C}

verbs, as in M4 0|X| OFM| 2 (X).
Form : Verb stem + X| OtM|R

3

E‘EXI OFMIR. (Please don’t push me.)

2351X| OtM|Q. (Please don’t swear.)

3A| LstX| Ok 2. (Please don’t speak loudly.)
S| 2X| Ok, (Please don’t come late.)

ME ALX| OIM|R. (Please don’t buy a gift.)

.J Ql. 252 (Yot / YUsHX|) OLMI K.
Q2. ot=0f WA M= O ZE (YSICH/ 2otK]) OHM[ K.

TV 03,0171 (IS0} / HESX) DHMIR. (TSch to make noise)

db osomarazs

Q5. ZXof|

(*OFAICE: to drink)

(*2C}: to come)

Q6. 0] =t Mo|glofR. of Fet

,8 Q7. Please don’t eat in the classroom —

3 @ Q8. Please don’t touch me —

' Q9. Please don’t give money to people —

Q10. Please don’t exercise on Saturday —

Answers: 1. ¥5tX| 2. 2SHX| 3, (M SX| 4. OFAIX| ORI 5. @K OHMR 6. 2X| ORI 7. Ao A HX| DR R 8. M E BHX|X| DiNI 2

0. MBS0 £2 N'”\}W\?\ﬁﬁ sooandcarrots.com



It is used to compare two different things. ELt means “(more / er) than” and it indicates that the word
put before it is the “standard” of the comparison in the sentence.

If you put & before the adjective / adverb, it emphasizes the meaning.

If you put & before the adjective/ adverb, it changes the meaning into “less”

The position of ‘noun + EL} is very flexible,

so you can just put 2L} after the noun that you want to compare.

Noun 10[/7} Noun 2E2C} (5/€) ~ = Noun 2E2Ct Noun 10]/7F (H/E) ~

Noun 12/ Noun 2E2LC} (E/€) ~=Noun 2ECt Noun 12/8 (H/2) ~

Ex.

B7t ARL} 7|7 71Q. (B is taller than A.) =AZLI B7} ] 7|7} 712 (Than A, B is taller.)
B7t AR H 2|0fRI2. (Bis less cute than A.) =AELCI Bt & Y K.

AL|7} ML ££3 Q. (My sister is smarter than me.) = M 2CH AL| 7 O ££3Q.
XK= 2etdo| 2tMECE I £0t2. (I like purple more than yellow.)

I|Xt7} X|ZIECE SEJUO K. (Pizza is tastier than chicken.)

e
@@ Q=TI AelE o Fohia,
” Q2. A7|2I7t ZoIXI R (o / &) A,
30)
. ‘

Q3. ZROEL} eh=0{7h (K / B) o K.

- Q4.Xl= USHFM K. (*loudly: 2A)
e
SRR Q5. ME Sl OIS X3 EMK.
= ooz 220 A
)

Q7. Mango is sweeter than papaya —

Q8. SuSu is cuter than KP —

ﬂ Q9. I read more magazines than novels —

a —a Q10.1like you more than anything —

Answers: 1. ©CH2. Of 3. 2 4. 2CF O 37 5. 2CH6. 2Ot & 7. F 07t THIOFECE (Of) 2SR 8. +4=7H KPECH (Tf) AR 9. M=
AHECHEXIE () 40K, 10. AL =

“WWW:sooandcarrots.com



8t means “only”, “just”. It excludes other options and limits the preceding word.

You can simply add 2t after the word that you want to choose / state / limit.

Ex.
XMe &

AlZ=o0O
=T —

b

IR0l 2. M OFt{ZF HO{R. (I'm a vegetarian. | only eat vegetables.)
1023t 7|Ct2| M| K. (Please wait just 10 minutes.)

22| S|Atf| A A2l M2 UL, (In our company, only Ceren works.)
M= gAotg Al 2. (1 love only you.)
0| 7H|= H QYT +/0{K. (This cafe is closed only on Mondays.)

Q1.

Q2. QL= 385

ANZtE FHR! Y

Q3.LHO[HE Folo. &2 ot

12
kl

e
of
==
Y
[
oL

Q4. g2 ¢t

O R. (

Q5. QL QIL|= gim,

Q6. OFME 2 ZOfdH K.

Q7.2|=0{E 2 3liK.

S L. (*st=20{: Korean)

Q8. I only like computers. —

ZF=: week)

HQ. (*=atak: drama)

*&: water)

SHR. (*QIA}: greeting)

QUK. (*54: younger sibling)

HO| L. (*17]: meat)

Q9. Only Ruxi comes to school today. —

Q10. I don’t smoke cigarettes. | only smoke shisha. —

Answers: 1. 4202, E2f012 3 SCH4, QIAIRES, S4BH6. 1 7[BHT7, $H=R0{8H 8. ZFE R Z0felR. 9. SA| MEH 25 3o
c
=

et
10,24 2t 92 2

b

“WWw.sooandcarrots.com
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Unlike ~2F (day 38), It is used with Negative Expressions only and translated as
“except for, but only, nothing but~". It shows that the preceding word is the only
option and there’s no other possibility. It is usually followed by negative expressions
such as §10|R, E2iR, ¢t~ 2~... but it cannot be used together with OIL|0|R or
imperative, propositive expressions such as ~M &, ~X| OIMIR.

Ex.

$h=0{= “otd” ghofl 22t8. (1 don’t know any Korean except for “annyeong”)

sho| &= & uhoj| I R. (There are no students except for two.)

0| SU|ofl= e|=elgtol| oF &#0tR. (No one lives in this town except for foreigners.)

=0| glojR. ZetHE| 2 AFR. (Idon’t have money. | can’t buy anything but cup noodles.)
22| X| 7} UK. OFr{5H0l| 2 HO{L. (I have an allergy. | can’t eat anything but vegetables.)

" Q3. CHE HHO| A0K? XK= (0] LBt/ o] BHHBo) S2ta.
(& &)
g Q4. M= X K. (*Y=0{: Japanese)

Q5. WattX| OF LI K. (*&t &: one month)

Q6. &l X2 AL, (*X: me)

Q7.1 have nothing except for an empty bag —

Q9. I can’t give anything but this necklace —

B
0"
\
#®
il §
~
£ Q8.1 don’t know anyone but the teacher —
1
R
g

Q10. I can’t drink alcohol except for just one glass —

Answers: 1. 522F 2, ZZ 5101 3. 0] S50l 4. &2 0{50i| 5. oF 0l 6. K 5t0fl 7. 1 b 5ol §loj 2 8. Ml Lol 22t
9. 220l 2 F2 10. &2 o T



It is usually used as “Noun + X{& / Z0| + Verb / Adverb”. It expresses that certain
features of certain things/people or action have some similarity with the preceding
noun.

X2 and Z0] mean the same and both are just simply attached to the noun.

Ex.

A2|E} M= BTSN E £2 # K. (Sarita dances like BTS.)

FLE PEIME SMsHR. (My sister is skinny like a model.)

ol0] M= ZotX|ZHo| AR K. (Emiis cute like a puppy.)

3 WaE ™K|oIZo| S &l K. (That professor speaks well, like a politician.)
Tl ME =ZZo| 28R, (Jinis perfect like a sculpture.)

QL. EH| M= (HAME / 0N H) LR !

[m]
O

rio

(LaXHE / XEUNH) 23N Ka.

Q3. QU= (Fh42H0] / HISZ0]) el K.

DL

Q4. ot OIELHY K. (*odAl: goddess)
a ) »
i>=<3 Q5.4HR &MR. Y 20{K. (*017|: baby)
can

Q6. M2 AFZHO| BHOLR. (*%2: New York)

Q7. This taxi is slow like a turtle =

Q8. I want to become like my dad —

«13Q

9 Yo
~—7  Q9.Don’tspeak like an idiot—
A; g QIl0. Korea is comfy like my hometown —

Answers: L fOFHE 2 £ BSIAE 3. 714801 . oftEor 20) 5 1A B(or 201)6.

e TR Ww . sooandcarrots.cor
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Quiz Day 31-40

Score: /5
1. Please fill in the blanks:
C: AL M, IS OH 9 .
E: QH ZEAFSILICE TEL| M= M2t XIXs} ol .
C: OfL|Of| 2. YA} M7t X Cojee XESR, DA MNE D0 YR,
E: ZEAFSILICH REL| M= MO XA} il Q.

2. Please choose the word that doesn’t fit in.

o| L} 2 Ao .

A2 9 B: E2I0LE 2 C:A[AIE & D:H[gEs TS

3. Please choose the right answer:

BN

A
B:
C:
D:

M 19 ot U

2ME 717t AR,

4, Please choose the wrong sentence:
A:
B: =
C:
D:

5. Please choose the word that doesn’t fit in:

S Al M7t = S HE 25
A dg 9l

B: 32 &

C=2Eel2

D: XA ST =

Answers:
1.X Ot /2 /2Ct/ 2/ HE (or 20]) / MY (or Z0])

www’§obandcarrots.com



Essay 31-40

O| A& 0| 20|27 XFSE AFZE? ZHAM 7| 7L} OH2IE Q1 AFRE? EEESH ALRE?
What is your ideal type (of lover)? A good person? A handsome or attractive
person? A smart person?

www.sooandcarrots.com



It is a future tense expression which shows that the statement is a future plan or
intention.
*If the verb stem ends with a final consonant (2t%]) — verb stem +2 {62

*If the verb stem doesn’t end with a 2%l or the Bt& is & — verb stem +2 7{0|R
*irregulars: £Ct = &2 A2 / &Lt - &2 Hol|® / RCt— £ Holl2

Ex.

8AI0 ME2 HE K. (I will eat dinner at 8 o’clock.) *=ict — =g Hola

Zabof g3t 2 Aol K. (I will watch a movie on the weekend.) *&2ct - 2 7oil2

LHE of&lof| X177t & Hol|R. (My friend will come the next morning.) *ect— 2 Hojg.
gist Zot IakAof| A 7‘|01|9. (I will live in France during the vacation.) *&tct — 4 7ol Q.
XA AAE MET A, (I will gift a watch to my bf.) *ME38ICt — 428 o2,

d

A
7 [

QL. CtE30l =0l (7t2 AR / 2 7o R).

Q2. LHE2 EMIt F0

——

2. HES (FS AR /L AHoL).

W

/,\ - =0 (EO

s b Q3. S CIE AEHES (B2 AR /=2 HoR).

]
2 20 Q4.XE L ojo|E0| (*=IC}: to become)
R osunE (-ck: o buy)

‘_,_"' Q6. F20jl= Btetis (*¢iCk: to read)
o ";. Q7.1 will swim at 5pm —
ey

Q8. I will play with friends —

Q9. I will graduate next year —

Q10. I will make Kimchi —

CY

Answers: 1. 2 02 2. /2 AR 3. =82 AR 4. & MR 5 & AR 6. 42 AWK 7. 2% 5A|0] =& o 8. HFEM =

o o il EEE AR 10 245 RN . sooandcarrots.com



Q&YO

Itis used together with an “Adjective” expressing that the state of that adjective changes over
time.

Itis translated as “become~”, “turn~”, “get~”

If the last syllable of the adjective stem has the vowels | or - — |/ OtX 8.

If the last syllable of the adjective stem doesn’t have the vowels t or - — {/{X{.

If it’s stC} (81 R2) adjectives — sHA K.

*irregulars: Ct2Ct - 2tX K /WECH > WalK L / FFCH—> HHYK

Ex.

X277t 20t K. (The eraser gets smaller.) *zict — ztotx 2

OHY 7|17t AN K. (I become taller everyday.) *act— 7xg

I|27} Z0FX K. (My skin gets better.) *&Ct - Zotxa

M7} =2 2. (The weather gets colder.) *&tt— £x2

E2X7t SN K. (The problem gets more complicated.) *=ztsict — 2xsixe

Ql. &met M (FII0IM L / 7HIHRIN R) (*712Lk: close)

Q2. M2 Bo| 9l0R. O (EZHMR / EX0{HK) (*==3tct: smart)

S
\

Y Q3. ZO|2E oK. S4/0| (UAHM L /SU/XNR)
-—
xax
:i h" Q4. S0|0|Q! EM 7t (*IEESICEH warm)
,'0- Q5. 387t (*ROJALE: interesting, fun)
@ Q6. EA| M= oY (*ollteCt: pretty)
s Q7. The hole becomes wider — (*sCh wide)
l Q8. My waist get slimmer — (*slim: 7HsCH)
l Q9. My hair gets longer — (*long: ZCh)
@ Q10. The kid becomes quiet — (*quiet: Z3}CH

¥

Answers: L7t MR 2. FESH M R 3. AU K 4. THEESHH R 5. KO AN K 6. 0N 2 7. FHO| {1 R 8. 5127t 7Hs M Q.

s slepr=el 2o 0\ *SGoandcarrots.com



It states a condition, supposition of actions, facts or routines mentioned later.

For supposition, you can add adverbs such as ZA|, Bt} Bt at the beginning of the
sentence to emphasize the uncertainty/ speculative quallty of the statement.

If the verb stem ends with a final consonant (2%!) — verb stem +2H

If the verb stem doesn’t end with a &%l or the &%l is @ — verb stem + ™
*irregulars: ECt > S9H /8Lt > E2H / RLt —> EOH

Ex.

Y 25stH AZsHM™ K. (If you exercise everyday, you get healthier.)

Mz Mz 7|1 20] ZLHM 2fsi 2. (When Ceren feels good, she sings.)

SAl L AHSHH MM R. (If you arrive early, please call me.)

gteF =2 BHO| E 718e Ao K. (If | make lots of money, | will donate some.)
o2 242 He %019 (When | eat spicy food, | cry.)

’;j”f‘\ Ql.0{20| (E|oH / =[H) =X} & oL,
L.

4?&; Q2. M2 (HoH / oH) £LE M 1.

% Q3. HALE (stH / €H) Tt 2N K.
Q4. 07| 2z MM R (4t to live)
Q5. A% M HOR! (*Zot2rt: to chase)
Q6. Mo|A| MEZ2 He MEE2 & HOR. (*ZCt: to give)
Q7. 25 uE S0l 7tR. (*2Ysict: to graduate)
Q8. 2/ E ¢t TR, (*Yck to wear)

. Q. If | receive my salary, | will buy a bag —

5 Q10. If Ruxi smiles, | become happy —

Answers: 1. = 2. O™ 3, 5t 4, M3 5 FO0tH 6. FH 7. YT 8. YO 9. AFS Lo JHYS & AHo|Q. 10. FA| M7}

ST www.sooandcarrots.



Itis used to express going/coming to a place to perform an action.
Unlike ~(2)2{1, it is only used together with 7IC} (7tR) and 2L} (2tL).
If the verb stem ends with a ##&— verb stem + 22{ 7IC} (712)

If the verb stem doesn’t end with 2! or the 2+l is & — verb stem + & 7}Ct (71R)
*irregulars : £CH(to hear) — §22{ / ELH(to help) — E°E1 |/ RCt— g0

Ex.

2 2o 2| 7tK. (I go to the bank to pay back my debt.) *zct— # oz

25sta] @ATO| 7I2. (I go to the gym to exercise.) *eSstrt»25st2]

Q= EH| W7I Eofl =28 2tR. (Today, Tobi comes to my house to play.) *=tct — =2
o2 28| ZMEN & oK. (1 will go to the concert to listen to music.) *Ect— S0z
=g 2o 22 A2 Z HO|K. (Once | receive money, | will go buy clothes.)*Atct — Atzf

QL. HI|Z (OFAIZ] / OrA[22]) FtEf|of 7t

-
—_—

©
o
p—
o
m

Q2. x|

mjo

(&2l / &oe) FEM 7tR.

Q3. M== (EU2] / ELHL) M= 7t

B0a

";. = Q4. 22HZ 2oyl oo 7FQ. (*viLick: to meet)
n:
. Q5.8t=0IE S0 7. (*HiLt: to learn)
L. Q6. =22 SEM| 7K. (*MC}: to wash)
Q7.1 goto Jeju toride a horse — (*to ride: EICH)
l'l'l'\
n Q8. | come to the restaurant to eat lunch —
[ .
“&p  Q9.1gohometorest— (*to rest: 4/CH)
7 ,
,0| Q10. I go to the bank to make a deposit — (*to deposit: HZ3tCH)

Answers: 1. OFA[2] 2, 31021 3, BL{2{ 4. B2 5, 8 @2] 6. W22 7. P2 Ef2] HIFE0f 7t2 8. FH & 2eg] Agol 7ta.

9. 4121 oj 712 10. I1\?\7&7{/00HOﬂ 7ooandcal’r0t3-com



(ol)Lt and 4Lt both mean “or” which indicates that one of two options will be chosen.
For nouns, (0])L} is used.

If the noun ends with a 2%l add O|L}. If the noun doesn’t end with a 2! add Lt

For verbs and adjectives, Z{L} is used : Stem + 7{L}

Ex.

AbztLl QEIX|E S HO{Q. (I want to eat either an apple or an orange.)
AtoLtHiCHo| Z 740l K. (1 will go to the mountain or the ocean.)

HEHL 221 7H2IE{7F Z0tR. (I like cute or funny characters.)

Zoolle 25517LE 932 HR. (On the weekend, | exercise or watch a movie.)
OFE 7L} I| 25tH H|EHZIS HO{R. (When I’'m sick or tired, | take vitamins.)

‘ QL 2(Lt/o|Lh) SB4E FAlQ.
ED Q2. MAISHLE/ 7L 28813 QESE &g,

Q3. TERK(LE/ OfLY) AHRF H1 AR,

m Q4.8 A glo® ROl ZLHIR (‘Rick: to sleep)
o SR AR EET:
k" 4
a Q6.2s2t7sx AL HOK. (=ch to play)
i Q7. In the morning, | eat bread or potatoes —

Q8. I will gift a pen or a ring to my sister —

& Q9. I listen to K-POP or Rock music —
—~

Q10. I want to make a nice and smart friend —

Answers: 1. O[L} 2. 74LE 3. Lt 4. XIZLE 5. Lt 6. 5 7LH 7. OFH Ol OILL 2HXHS H0iQ 8. ALI0f7) HOILE BIX|S 38 AHoil2 9.

2.
FloEelbe = SeiE Soie. 1020 AR S S 00 dridcarrots.com



Itis the past tense of verbs and adjectives.

It indicates that a certain action / state happened in the past without providing any information
about the current situation.

Verb stem / Adjective stem ending in the vowels | or - =A/V-%0{2 / | m0O{R

Verb stem / Adjective stem ending in the vowels | = { M0{& (*ex. L2|C}- LK)

Verb stem / Adjective stem ending in other vowels = A/V-210{2 / { m0{R

*MLH— J0jQ / HCf — £0{Q /OtZCt — OF0| R / &Lt — FR0|Q / EOt —» SR / RELH - E/0|R

Forirregulars, please check Day 18

Ex.

OfH| st2E5Y =AU K. (I played the whole day yesterday.) (*&C}: to play)

Ot EAER BUS HRAOIR. (I ate toast and fruit in the morning.) (*=ck: to eat)
HO{E 72X 0 K. (I taught English.) (*7t2%ICt: to teach)

Ol HE HAN L. (My house was too far.) (*far: Hch)

O 7t oflt 27 MHA| MO K. (Is this bag pretty? | bought it at a cheap price.) (*AlTk: to buy)

QL. FH0|= EM7H(EAN R /

Ot

A0 K).
< Q2. 22| ML= HE W Y (dl*ole /ol%olR)

a7
ﬂ}u Q3.0 2 H7} (AR / AR0IR) (*22Ick: to draw)

F Q4. 0N 2ol =2 (*OtAICk:to drink)
_ j Q5. ZHA0]| = FHLtCHo| (*AITH: to live)
ﬂ Q6. =4/0| & (*ogiCt: not tasty)

3 Q7. I watched a movie on Sunday —
o

£ % Q8.lwrote a letter to my girlfriend —
.
19 s
o) Q9. I was busy recently —
9
Q10. My nephew was cute —
4

Answers: 1. 4012 2. O#01R 3. IR 4. 0H410]Q 5. HACR 6. ARUACIR 7. AR S 2R 8. O{AFEI T

HHE RS EEIRRWW. S 00ahdcarrots.com



g0 R is the past tense of S{ R (s}Ct) verbs (*Day 13) ex. ZstCh — LUHOIR
The rule also applies to 8ICt adjectives. ex. HEIC - =} R
%0{2/0|A0{8 is the past tense of 6|2 / 0|0 (*Day 1)

If the noun ends with a final consonant (%) — ojof|2 — 0|l

If it doesn’t end with a 2t — 0|2 — FoR

For the negative form, 0|/7} OIL|0}|& (*Day5) — O]/7} OIL|A0{ R

Ex.

Mz W= 7t K. (Ceren was a singer.)

O{X|7HX| EHH0|A 2. (1 was a student until yesterday.)
ThAo| Z2=M0{ 2. (1 got married last year.)

MZHECH 2RO K. (It was simpler than | thought.)
MNE 7447} ofL|A0{ K. (I was not a soccer player.)

. " QL. Z ME ol&7HIHR / 0|ANHR)
\i:"&f he..

IR 2 5= 2 oinE (RwlR ) AERle)
dw =

Q3. 22 HU=(0] OtLIA K / 7t OFLIAH R)

Q4. 3ol oo R? (*Z4H3BIC: to worry)

rpt
0%t

Q5. AFE 2 of|Hof 22

Q6. 2= 0l2{2 =H|

Q7.1 was a weird person —

< ot

o Q8. My mom was happy yesterday —

Q9. swam on Sunday —

Q10. Tobi was not a developer —

Ao

Answers: 1. 9012 2. AFZRI01Q 3. 0 OFL|RA0IR 4. HEHOIR 5. 0|A0]R 6. 7 OFLIACIR 7. M= O] &5t AFZI0|I0IR 8. ot

O H=RH0IR. 9. YU +SHAR. lOWWWH‘Egaaé‘«”ﬁaca ITOtS .com
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~0llA and ~5:E{ both mean “From”.
People usually use ~0f| M for “Location” and ~8E{ for “Range of Time”.
X means “to” or “until”

Ex.

Zlo|A st u7tx| EotLt 22272 (How long does it take from your home to school?)
Otz AIRE oA AITEX| L8l _. (I work from 9 till 10.)

oM SCh7tX| FHO{L. (1 run from Hapjeong to Hongdae.)

OFEIEE| MA7IX| SEMO K. (I studied from the morning to the evening.)

122 2E 38NIX| @at0]of| Q. (The vacation is from December to March.)

o ° QL ME(llM / RE) CHRTX| Eo{R?

}.\*
f Q2. OfXI(Oll M / SEf) T{2| 7} ofit .

A Q301 Lizk(olM / REf) 201R2

[ ¥

Q4.3 ZA M 158 720 R.

m.

r X HFsH
- Q5. ofEl Zreo] Q7
o=0?

'* Q6. = A% 28R,
b A

@ Q7. | exercise from 1 to 2 o’clock —

Q8. I lived in Seoul from 2019 to 2020 —

”E Q9. I walk from the bank to the park —

Q10. I will go to the gym from today —

Answers: 1. Ol A 2. & 3. 0l M 4. Ol[Af, 7/EX| 5. Ol M 6. 2Ef 7. IAIRE 2AI7HX| 28312 8. 2019 FEf 20208 7HX] ME0{A

Sl Bl < A So0ANdearots.com



This expression is used to suggest performing an action together with the listener, or

to ask for the listener’s opinion.
If the verb stem ends with a final consonant (2t&l) — verb stem + 2 7tR?

If the verb stem doesn’t have a %! or the Bt&l is @ — verb stem + 2 NR?
*irregulars : ECHto hear) > £27t27 / ECH(to help) = =277

Ex.

Atiste] S0 Z7te? (Shall we go to the park to take a walk?)
Mol 2AS HENR? (What should we eat for dinner?)

22| 2227127 (Shall we get married?)

O{C|AM =7t27? (Where shall we hang out?)

Zo| H3t 27827 (Shall we see a movie together?)

o)
=
2

m Sots (E2tR / E2Mt)?

Q2. IYO|E (7127 / 7|REMK)?

Q3. O{iH 1S (AR [ &7tR)?

Q4. Zo| Al
Q5. &#22 ? (*EC}: to open)
Q6. Ttstxig ? (*9iCk: to read)

Q7. Shall we go to a museum? —

Q8. Shall we book the ticket? —

Q9. Shall we drink a cup of coffee? =

Q10. What flavor shall we choose? —

Answers: 1. SS7tR 2. 71278 3. 472 4. 27t@ 5. E7ta 6. SR 7. BE0| A7te? 8. E|ZS ooigrta? 9. AN S

PEZIETI0 G XE e www.sooandcarrots.com



It is used to express the “contrast” of clauses. It is translated as “but” in English.
-Verb / Adjective stem + X| 3t

-0fl| — X2t/ ol — ofx|at

-Past Tense: ~/AXI Dt

Ex.

olL|E= of|seX| 3k LIt . (My sister is pretty but bad.)

=2oj= o™X T RHO|A K. (Korean is difficult but interesting.)

X 2| AAKIZE £3H2 R8H K. (’m an accountant but I’'m not good at math.)

O{MlE X2t 252 M58 Q. (Yesterday was cold but today is warm.)

LHY 2 FZO|X| 2t 2| Atof| Z Ao K. (Tomorrow is the weekend but | will go to work.)

<9
SN QLIRS (AR /AR e SofE Holl.
¥k
n Q2. YOH= S|AH(RXITH/ OIAXITH XIZ 2 ALA7}oll .
0'\:0‘0

K| QUU L. (*2ct to lose)

—
l®)
=
N
fjo
Al

Q5. ¥ M= 7|7t Ct2|7t Z0{ K. (*&tck: small/short)
@ Q6. 22 ot Il Oy,
?t Q7. MiE M= o weHO L.
1 Q8.2 ¢t H{ZF QF DR,
’Q! Q9. Lobster is expensive but tasty —
-

Q10. My room is clean but narrow —

Answers: 1. AFZSEX|CH 2. O|UX|CH 3. QIQUX|BE 4, QIAXIBE 5. Z{X[BF 6. OFAIX|EH 7. O|X|2F 8. HRUKX|CH 9, B AER= HIMX|GH
| &

StX
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g Quiz Day 41-50
R .
1. Please fill in the blanks:

E: 2t M. oA ?
N: StzZhof| SHZAOM 25

_,_
-

el
ol

2oL UHNR. XML Ao i 25
N Z2 dZtolofl ofjo] M. 0HY 2S
E: StotR. ofut X0 20| 253t

o
ot HYHNNR.

2. Please choose the word that doesn’t fit in.

Ne oK.

A: Q| AL B: MMEl C: 347t D: AIX[L|O]
3. Please choose the right answer:

20

0
2

o1R?

>0

CEHL oA HXIE HotR.
1 RS At sk 7t

.U..ow>

4, Please choose the wrong sentence:

0
i)

F

2

220l A & Holg.

HEEIUE

B2 2ol yria
TIE|S & 70,

o o |
—-I'ErE

o

ng
oot mjo 13 |

o0 w>
> e 2

oot 1o 12 riu

J}E ot

=2

5. Please choose the word that doesn’t fit in:

-

o J2 W an 2

2 K?

O0®FmnN

Answers:
Lolg/ola /oia /71= /& /2

www’§ooandcarrots.com
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Essay 41-50 S
- R

F7HM RFAS 5t H01Q? FAS 5t A0 OfL|H =11 Ho{? 7HF0|Lt &R Sat
AlZhg 2L Ho{R?
What do you want to do during vacations? Do you want to take a rest or have fun?

Do you want to spend time with your family or friends?

www.sooandcarrots.com



Day 51: ~ 7|2 340{R = | decided to ~

~7|2 SICt means “decide to~” but it’s mainly used in its past tense ~7| 2 0| Q.
It is used to express someone’s decision or promise made to other people/oneself.
The form is simple: Verb Stem + 7| 2 ZHo{R

Ex.

HYLEE 255172 oK. (I decided to exercise from tomorrow.)
EfE Mot 2=6t7|2 #o{R. (I decided to marry Taehyeong.)

22| 3|AH= O|AtSH7| 2 FHO{R. (My company decided to move.)
LU0l w3|of| 7t7| 2 O R. (I decided to go to church on Sunday.)
Mz W= M XS AF7|2 FO{R. (Ceren decided to buy a new car.)

Practice

QL. 2t=0l|A (A7 2 / &7]2) oK.

Q2. ZOtX[IE (ZIR7IZ / 717|2) O K.

7@

2 |
b |

Q3. EXHEIFt (30| 22 /H0{ X7 2) o K.

Q4. #0|2E (*atSCH to make)

Q5. ¢t M= =AU

mjo

(*ZCt: to sell)

Q6.2

mur
rlo

(*HABICE: to clean)

TR

¢

Q7.1 decided to learn French —

Q8. | decided to quit smoking —

Q9. | decided to go home —

Q10. I decided to watch a movie —

e Tk

Answers: 1. &7|2 2. 7|27|2 3. S|0{X|7|2 4. UET|Z 0K 5. LI|Z WL 6. HASH|Z o 7. THANE
HiR7|2 o2 8. HHiE 7|2 R 9. &l I17|2 3*'01&5. A= HI|2 5H0i:9.
70 .sooandcarrots.com



It indicates that a certain action is continuing.
It is translated as “be ~ing” in English
The form is simple: Verb Stem +11 L0{R / Past: Verb stem+ 11 AU

Ex.

X2 HolM S5t A L. (I’'m studying at home now.)

OfM| MHofl st AA L. (I was studying yesterday evening.)
FIEE &1 AA K. (I was looking for a card.)

8lE WE 292 E1 UYL, (Victor is listening to music.)
L= £F 1 A0 K. (My sister is dancing.)

Practice

QL. Lt ME FAE (DHA[O] /ORA[22) IO R,

Q2. ®ofl (72 / 7t0{ 1) AAA K.

Q3. Aot= L2 E (RELN / RE27|) AN K.

Q4. ZHHARE| Bitof

(*&FC: to live)

Q5. HgolE

(*HCt: to eat)

Q6. &I E

(*2HLtC}: to meet)

Q7. ’m making a sandwich—

Q8. I was watching a drama —

Q9. I'm playing the piano —

Q10. I’'m speaking to my mom —

DE=RI e BRE

Answers: 1. OFA|ZL 2. 7k10 3. 220 4. 1 QIoje 5 1 2012 6. BHLILD Qloje 7. HEQ(XE 2HED oje 8. =208 21

paoE s R i W s 60andéarrots.com




e Day 53: ~ (&) & =In the middle of /
' Currently doing ~

Just like ~11 018, it also indicates that a certain action is continuing. But you cannot
use it for natural phenomena like raining, snowing... (0] 21 A0 -0 / £0| L&
Z0[0 -x)

The form is: Noun + & or Verb stem +£ &

Ex.

28 B0[0|2. (I'm in the middle of exercising. / I'm currently exercising.)
th7| E0|0|K. (’m waiting.)

EHelof| 7He 0|0 L. (I’'m currently going to the hospital.)

Az W= S3t 50|02, (Cerenis in the middle of a phone call.)

£+ WE Yste F0|0f|R. (Suyoung is currently working.)

Practice

'Z,: t QL. 0| E2& ZA}(

Q2. 2110 S HHR(
hA

o
rr
o
o
)
o

of
rir
o
(]
=
o

"{2 Q3. 542 AN (B /£ B)ololL.

I

& Q4. EZ M= 2fel2 (*OFAICE: to drink)
Q5. X2 & (*MY: sale)
? Q6. 0Jetsli . O|RH K. (*3]2]: meeting)

h Q7.I'mon adiet—
a Q8. I’'m currently making a sweater —

Q9. It’s currently raining —

L4
H Q10. 'm in the middle of a date —

Answers: 1. & 2. = & 3.5 4.0t = S0/0|2 5. MY 0|02 6. 2[9| & 7.CIO|HE F0|0|2 8. AYHE MEE= F0[0
9.H|7t 211 2l0{2 10. HI0|E F0|0| R,
72 www.sooandcarrots.com



Day 54: N + 20,V - (2) Z0]| = After ~

With Nouns, it means after a certain period, time, action.

With Verbs, it means after doing a certain action.

With Noun — Noun +Z0]|

If the verb stem ends with a final consonant (2t%!) = verb stem + 2 Z0j|

If the verb stem doesn’t have a & or the g%l is & — verb stem i =0
*irregulars : ECH(to hear) = &2 20 /EEf(to help) » =& =0j

\ S
a )
Ex.
25 20| 8242 E0K. (I listen to music after exercising.)
A H2 2o 3EE A K. (I will study after eating some snacks.)
UJ|E 2 20i| 20 K. (I slept after writing in my diary.)
AO|ES E2 0 lMo| HH AN L. (My life has changed after hearing K-Pop.)
gt Azt =0of ol Z HollK. (I go home after one hour.)
\ J
Practice
&:_ QL LEY (2] / 2 of) NS B2,

J Q2. 0| RS (A2 =0f / & =of|) iofof|A| M=o K.

-
ﬂ Q3. 2= (20 / 2 Z0f) 0| BZH0{R.

i o
- Q4. A HILILF @R E O Q.
;'ﬂ’u‘
Q5. ZOotX| 7t Fofl O HE2T L. (*2Ct: to come)
Q6. ¥3t= HNES HOP JtR. (*HC}: to see)
Q7. 4uS A2 E2 7K. (BHSCE: to make)

Q8. I brush my teeth after eating chocolate —

- Q9. I will sell it after making this cup —

e,
w_ Q10. I work after finishing house chores —

Answers: 1. 20 2. &F 01| 3. 20f 4. 20 5. 2 20{ 6. 2 20l 7. CH= 20 8. 23S H2 20i| 0|2 HolR(LA|3R). 9. HS

BHS 20 Zoje. 10. aﬂ%ﬁﬁﬁ?’?&”&andca rrots.com




Day 55: N + Zoi| /v - 7| Hof

= Before ~, ~ Ago

With Nouns, it means before a certain period, time, action.
With Verbs, it means before doing a certain action.

With Noun — Noun +X0j|

With Verb — Verb stem + 7| Foj|

Ex.

Azt Moj| Hl22 ZHFM L. (Please measure your temperature before entering.)
Ui Moj| $h=0il 01K, (I came to Korea one year ago.)

H7| ol 7| =8tMIR. (Pray before eating.)

Xt7] Hofl M43 K. (I wash my face before sleeping.)

eS| FMofl HHEFHAH K. (1 hesitated before confessing.)

Practice

QlLHM==S (¢

ne
N
X
2
~~
Nz
£
2
Hr
o

¥
_?_
o

- Q2. Mz M= E¢ (7] Hoil / Tofl) of = 7t oK.

Q3.2 (71 Toil / 8t7| Hofl) AEES K.

Q4.5 % FEE W0
Q5. =tulof| Of&E HoiR
Q6. WX|E HX|XE M0ia.
Q7. 24E M= ZH[E HO||Q. (*TtLick: to meet)

Q8. 1 opened a cafe two weeks ago —

Q0. I take pills before sleeping —

Q10. I buy a ring before proposing —

Answers: 1. 27| Fofl 2, Tl 3. 5}7] Tofl 4. T0fl 5. 7k7] Fof| 6. 47| Foi| 7. BHLE| Tof 8. 0] = Hoi| 7HH S EAH K

TR Www . s60andcarrots.com




®

Day 56: ~Z10{R (1) = Plan to, Will, Should I .

It expresses the intention or plan of the speaker such as in English “plan to”.

You can’t tell the third person’s plan with this expression.

It also delivers information about what is about to happen in the case of weather
or a schedule.

The form is simple: Verb/Adjective Stem + 20|

Ex.

RERH 253120 K. (I plan to exercise from today.)

CHSEE ot 2210 K. (I will not be late starting next time.)

3 25t2] $=20f 717 K. (1 plan to go to Korea to study.)

2 uh7tx] Z|Ck2| 2 K. (I will wait until you come.)

LHY 2 H|7} A ELICH (It will rain tomorrow. *on the forecast/news)

Practice

I_! Q1. ZA|Z HA T (=& [ =XH) S LILE *for announcement - ZLICH
=%

s Q4. L2 n urg (*"a3tct: to clean)
: Q5. Etet &8 (*ZCF: to quit)
L Qe.oid 7pl Hof o 22 (“MCk: to buy)
Q7. FA= M240f SLICH (*=&ts1Ct: to arrive)

Q8. I plan to work harder —

Q9. It will snow tomorrow —

Q10. I will learn Spanish —

Answers: 1. EAFSHZ 2, ZULHZ 3. 2 HOR 4. HASIZI0RQ 5. BH K2 6. AR 7. =262 8. O &38| Yotz R 9. LY +=0|
QZELICH 10. ATQINE B0,
WWW.sooandcarrots.com 75



Day 57: ~Z0{R (2) = Seems like,

Sounds like, Must be

Beside the usage from Day 56, it can be used to guess or suppose a state and situation.
Itis translated as “looks like, seems like, sounds like, would be, must be.”

The form is the same as Day 56: Verb/Adjective Stem + 10|

For the past tense: ~%4/%! 2oL

Ex.

Alo|= ZHArELICE SHUZ K. (Thank you for the cake. It looks tasty.)
M ME X2 Yot 5012012, (Ceren must be working now.)
slE710{. (It must be tough.)

EiHl7} X| 28 T 0K. (The parcel must have arrived by now.)
Li E£210{1K. (Tomorrow must be cold.)

Practice

QL &2 2 HOIR? (WZe|2 / LTSI R).

=
l i ;D
~,
3 NN

B
oy

i

£

£

: ﬁ
.
. Ky
‘Il

Q2. =

=

| L
~

mjo

HE 27 A K. (BAoR /&0 K).

Q3. 2|=0(M o2 SOHT0R? (ER0R / S0 R).

Q4. ErHAUSLICH HY (*SkQLCE: tasty)
-,
—) Q5. ME2{R. o|2{Ct7} (*<Lk: late)
M Q6. 38HHOR. (*AFMICE: to gain weight)

Q7. It seems easy —

Q8. Everyone must be sleeping —

.
L

Q9. It sounds interesting —

Q10. You must be full =

(10

Answers: 1. T| 2512012 2. HO0I R 3. %02 4. AAUNR 5. =201R 6. AWML 7. #701Q 8. ZF X2

PHARRESE A0 RSN \sww.sooandcarrots.com
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“Every”
It can also be used to mean “Each”.
It is attached right after a noun (Period / Thing to be included) without “space”.

Itis for expressing the repetition of the same/similar situation over a regular period:

Ex.
gh A|ZHOtCH AT} 9tR. (The bus comes once every hour.)
Ar2totch MAHo| EatR. (Each person has a different personality.)
EA HEotch 7t 27 UK. (Nowadays, every house has a camera.)
FZotc £32] 7t2. (1 go dancing every weekend.)
=otct euof 7kR. (1 go to school everyday.)

Practice

QL. w&(OtCH/ Holl) AFE7F A0 K.

Q2. (Z0OICH/ ZOl[A) E X7} LietR.

ﬁ Q3. (& 20ITt/ & R0l) A7} & Holg.

N Q4.1 go swimming every Thursday —

@ Q5. I call my dad every morning —

_‘j Q6. Each company has its merits —

Q7.1 meet my mom every weekend —

Q8. The subway arrives every 30 minutes —

Q9. I go to the gym everyday —

Q10. I watch TV every night —

Answers: 1. OfC 2. ZIOICH3, o 20ICH4, SQUOICH =G5t 7tQ . 5. OFEIDICH OftHotE| ZISI3H 2. 6. S| AtDHCH FE 0| A0 K.

120 FROIC LR R 0 Q0 A O S S Y B TVE i



Day 59: ~O}/0] ¥}2 = Try to ~

Itis used to express the act of attempting, trying out a certain action.

It is translated as “try to~” and often used in ~OF/0{ EM|R /~O0}/0 £t{R” form.
Verb stem ending in the vowels | or - =Verb stem + O} 88 or just 2R

Verb stem ending in other vowels =Verb Stem + 0 / { &R

SICt verbs =~olf BIR  *irregulars: ECt— S0f &R / ®2Ct—» 28 8@

Ex.

O|H ZTimt AN L. THH HO| 2R, (It’s really tasty. Try to eat some.)
S0 E Hi® 2 oK. (I will try to learn German.)

0] 2 LO{EMR! (Try to wear these clothes please.)

0| -2l E0{£t0{R? (Have you tried listening to this song?)
Ueolntct SR 2|2 oK. (I decided to study every Sunday.)

Practice

QL A Wi L2HE (23] 22 / F20] #Q).

Q2. ool UIES (A3 20K / At 2 R).

Q3. =2 (HOt BtR / 20 BtR) (*ZUCk: to close -eyes-)

o

Q4. A H I HZ22 x5!

Q5. Dzl O] Al SHH (*AICk: to wear-shoes)

Q6.0|5%20=2 (*2C}: to come)

Q7.1 tried to draw a mermaid —

Q8. I will try to study philosophy —

Q9. Please try to eat this dessert —

Q10. Please try to drink it =

Answers: 1. 22 8t2 2. O{&iol| 2012 3. Z0t 212 4. HO {2 5. M0 EMR 6.2t #tR 7. 21| E T2 gto{ 8. M2 3R &
7{02.9. 0| CIMEE Ho{ EN|2. 10. Ot M Q.
78 Wiww.sooandcarrots.com




Day 60: ~(2)L X0| loj2 / ¢loiR

= Have done / Haven’t done

It is used to mention a certain experience in the past.
Itis translated as “Have done / Haven’t done”.
If the verb stem ends with a final consonant (#%!) — verb stem + 2 0| 20|12 / 2l0|R

If the verb stem doesn’t have a Bt or the #& is @ — verb stem + L H0| 10{R / 2l0{Q
*irregulars : £CHto hear) > &2 H0| 0|2 / FCHto help) = =2 H0| U0

Ex.

sh=2of| 7H2 A0| U0{R? (Have you ever tried to go to Korea?)

a AM Qe Mol AN K. (I have read that novel before.)

oA HolE 2 Ho| 910 K. (I haven’t seen any French movies.)
H20{Z MX|E £ H0o| A0 K. (I have written a letter in Korean.)
sh= X AR Ho| 810 K. (I haven’t dated a Korean guy.)

Practice

Ql.et=0i= (ZHsI2 & /L H

o
S
50
2
o

Q2. Atof (X2 X / #HEl H)o| glol K.

op Q3.%tgls SAME AXIZ (H2 H /¥ H)o| A% K.
Q4.BTSE 2IH (*BtLtCh: to meet)
Q5. 4XIE (*at=Ct: to make)
Q6. &[0l A (*ACH: to live)

Q7.1 haven’t travelled to Mexico —

Q8. I have received a diamond —

Q9. I haven’t ridden this bicycle —

Q10. I have sleptin a Hanok —

B« Gl @ D)

Answers: 1. WISt = 2. 8| H 3, 912 X 4. 0hct X0| /012 / §OIR 5. 2 Ho] 21012 / 201K 6. 4 Ho| Yo / glofe
7S ofslet =0l e RIS S ﬁﬂf&ﬁ?ﬁot?&%ﬁ'ﬁo' 2012, 10. S 0lAf 7t Ho| 2lofe. 79



1. Please fill in the blanks:

B
V: AR M RS Bt

2

S.oo|.c> =
= = —

(HIE W=R?

V: M= AY

S: Al¥olR? MO

Vi HL @ HOIRAAR. AP M oA

g

Hof !

2. Please choose the word that doesn’t fit in.

2 =0

A:HBALC: 2 D: %

2 0.

3. Please choose the right answer:

-
Q. CHE Li2tofl 2k Xo| A0{K?
A.

A: 20l 2 Ho| oK.
B: eh=0il 7tof i K.
C: Z2rA0] 7tof 20 R.
D: 0|=0fl 7t EMR.

g

4, Please choose the wrong sentence:

-
A: 2 20T X|5HE0| 2tQ.
B: 0] OH7tS oA HO| EAR.
C: 20| & M. MY F0/0 K.

.

D: T E ThL} Toj| 0|40 S3K.

5. Please choose the word that doesn’t fit in:

r

A: G XHEI Ol A| HXIE M
B:2AS MR LI H
C:ol2HE R E
D e

Zol'-r |E

o

=

A

O{OF Hi Q.

Answers:

‘§oodandcarrots.com

1./0iR /7 20iR / S0/0|R / 0iR / BAIR
WWW.S!




Essay 51-60 O

7t% Z015h= Fotofl CHoll LoiFM L. o FHEQITtR? of 11 HoHE Fo1sR?
Tell me about your favorite movie. What genre is it? When did you see it? Why do
you like it more than other movies?

www.sooandcarrots.com



Day 61: ~O}/0{O} B2 / 8|2 = Must, Have to

It describes the “duty”, “obligation” and “necessity to do something”.
Itis translated as “must”, “have to”

Verb stem ending in the vowels | or - =Verb stem + Ok( | Ok E{R / s
Verb stem ending in other vowels = Verb Stem+0{ (1 / {) Of &R / iR
SICt verbs = ~6l{Of £ R / sHR

*irregulars: ECt — S0{0F, J2|Ct — J2{of, FELCt — E2{0F / ML — MO}

Ex.

LHY SA| M2 MUolo2. MES ALOF =K. (It’s Ruxi’s Bday tomorrow. | have to buy a gift.)
L2 =0, Tl 7tof sH 2. (It’s too late. | have to go home.)

Zlof] Z0ojR. oF2 HO{oF 3l R. (I caught a cold. | have to take some medicine.)

L7t 2 uh7tX| 7|Cta{oF B K. (I have to wait until my sister comes.)

CS 3ol AlEHolo|2. 3E6H0f siR. (There’s an exam next week. | must study.)

" -

Practice

5’{ QL. O 1= 27 (=0toF 3R / =0{of &2).

.
»

@ Q2. AAZE (MO E R / ALSHOF EHR).

Q3. EZLX|2t (ROtOF 3R / RO{OF BHR).

Shie

Q4. 22|7]= 2271 Sof (*#12|Ck: to throw away)
Qs LA XIS (-8tF: to write)
cazg .

Eégg Q6. 2 =0il 8= (*#|=I8tCt: to get a job)

Q7.1 have towalk a lot =

22 1

B B

Q8. I have to dance at the part —

Q9. I have to find my wallet —

Q10. I have to take this bus —

EF0F iR 9. XL Hotof 8K 10. 0] Hﬁw

Answers: 1. 50t0f 812 2. AF2FSHOF S 2 3. 20{0F 812 4. H{2{0F SHR 5. WOF 82 6. I ZIs{0F iR 7. BE0| Z0{O0F SR 8. THE|of| A
OF B2
.sooandcarrots.com



Day 62: ~H otgl@ = Should not, May not

It limits or prohibits a certain action, usually based on common sense.
It is translated as “Should not” “May not”.
If the verb stem ends with a final consonant (2t%&!) — verb stem + QH Qtsl

If the verb stem doesn’t have a 2+%! or the B4l is & — verb stem + H Q&R
*irregulars : £CHto hear) » £2H Qt=H R/ FCHto help) > =™ Q=R

Ex.

O] Afzt HOo™ Qe Q. (You shouldn’t eat this apple.)

FIFOf| A L2 242 oFH Q=i Q. (You shouldn’t say bad words to your friends.)
Zoj| A2|7|E H2|H 2t K. (You shouldn’t throw away trash on the street.)
20| £2™ QR (You shouldn't be late for the class.)

OFEE ot HOoM™ Ot @, (You shouldn’t skip your breakfast.)

Practice

QL. =AM (S=totH / S2tH) = R.

Cly-

Q2. #HAIZHol| (RtQH / XH3) ot=H Q.

Q3. £HE ot 8t (E50H / =H) el e,

@”Y Q4. LR 2712 (*AEE: to buy)
Q5. 0|9 810| CHE AtEE2 (*40{3ICH: to hate)
Q6. 22 E0Z AlEts (*HKSiCE: to judge)

Q7. You shouldn’t smoke at home —

Q8. You shouldn’t waste your time —

.

LN I

Q9. You shouldn’t talk in the library —

I8 Q10. You shouldn’t cry alone —

Answers: 1. S9HSHH 2, AHe 3. 50 4, Al Qe @ 5 HOfote ofell@ 6. WIS otel@ 7. oA HHiE T2 otele 8. AlZte

el et . =aE R AT S0 dandcatrots.com




Day 63: ~(2) 22i2? = How about-~,

Would like to, Want to ~

It is for asking the listener’s intention or preference on a certain topic.
It could also be used for suggesting something gently.
If the verb stem ends with a final consonant (2%!) — verb stem + 22127

If the verb stem doesn’t have a &%l or the 2 & is @ — verb stem + 2 27
*irregulars : ECH(to hear) > 22127 / &CHto help) > =22HK7?
232 HENR? (What shall we eat?-Day 49) vs A HE2127? (What do you wanna eat?)

Ex.

H =427 (What would you like to eat?)

Z0| =0|32l0f| Z2H 2?7 (Would you like to go to the amusement park together?)
Ctz2| otm? o|Xtoj| 2F22iR? (Do your legs hurt? Do you want to sit on a chair?)
Nz AH2eiR? (Would you be in a relationship with me? = Would you be my bf/gf?)
7{1| O&2iR? (How about drinking coffee?)

Practice

Ql. 20| oI=0{E (Hi SR / Hi=ER)?

2 -ﬁl Q2. 2ol (OtASEHR / DHAlEfR)?

a Q3. =MZoM HMS (AHS2HR / Al R)?

Il Q4. 22 =2 ? (*2LC}: come)

" Q5. 1 X Xote| 7 (*ECh to sell)

Q6. =L|7t o] ZE ? (Ych to wear)

MENU Q7. What do you want to order? —

Q8. Do you want to ride a bicycle? =

Q10. Do you want to wait here? —

coO

@ Q9. Do you want to eat more? —
.§,®,

babh

Answers: 1. HiSei2 2. OFMel @ 3. ¢lSeir 4. Seie 5. Zelie 6. ¥ See 7. RS oefR?8 AHAHE 2ele?9.0f HE2Q?

10- OV oA ZIErEEn s www.sooandcarrots.com



Day 64: ~(2) 2212 = Will, Would like to

~Q (2)2|R can also be used as a declarative sentence, stating the speaker’s intention.
In this case, it is translated as “will” or “would like to”.

The form is the same as on Day 63.

If the verb stem ends with a final consonant (2t%!) = verb stem + 222

If the verb stem doesn’t have a 2! or the &%l is & — verb stem + 2 2R
*irregulars : £CHto hear) > £221Q / &CHto help) > =221Q

Ex.

2 HSUR? e HHAHE HS2 Q. (What do you want to eat? | will eat a hamburger.)
o2sfe. Fofl Z2He. (I’'m tired. | will go home.)

Q=2 a2 &2, (I will just take a rest today.)

sh=of & A2fR. (1 will just keep living in Korea.)

AMLhE 2 E221K. (I will listen to a cheerful song.)

Practice

QL. A M= HAZ T BIA] (B HollR / Ef2HR) *3rd person

ﬁ Q2. M= HM (H22 R / HaHR).

@ Q3. 7oL, O (RAISISE R / FAIEEHR).

Q4. O EHXxpE (*8ll01XICt: to break up)

Q5. 0| ¥mA (*AFCE: to buy)

Q6. =3 AN (*AHHSICH: to take a walk)
ot Q7.1 will hike tomorrow —

i’ Q8. I will drink a glass of wine —

- Q9. I will marry that guy —
g

o . .
- Q10. | will learn Arabic —

Answers: 1.EF 70| 2. HEel@ 3. PAIEE2 4. 6| R 5. A2 6. AHEteie 7. LY SAtetel @ 8. ofel of t otalefe
o InE 2= ZWANIV “§@0andcarrots.com



Day 65: ~ (Q) 2 = o2 / 22 =

Know how to / Not know how to

It expresses the ability, capacity, and knowledge of a subject.
Itis translated as “know how to” for ~ & &0} and “not know how to” for ~& S2IR.
If the verb stem ends with a final consonant (2%) = verb stem + 2 & g0l

If the verb stem doesn’t have a 2H&! or the 2%l is 2 — verb stem + 2 & 02
*irregulars : ECHto hear) > £2 & 20t / SCHto help) > =2 & oI

Ex.

otz 2418 Q2|3 & 2otR. (| know how to cook Korean food.)

M= HZ F LotR. (I know how to eat Cheonggukjang-stinky soup.)
o

SN M, 2™ = 20tR2? (Ruxi, do you know how to drive?)
= =22, (I don’t know how to go to the embassy.)
& £ Z2t2. (Suhyun doesn’t know how to swim.)

QL. SAPZL OLIOR. FALE BE & (202 / 22t8R).

A

Q2. XM= QE[AGR. 27| US E (Zota / =2tK).

Q3. =2 (OIAE & /OH &) &ota.

Q4. M= =ptoe. a8=

Q5. M= 7t=7t ofL[0R. L2 E

Q6. AIHAHE CO{HE BolR.

Q7. 1 know how to read Hangeul —

Q8. I don’t know how to swim —

Q9. I know how to rap —

Q10. I don’t know how to play baseball —

Answers: 1. 22t2 2. 20t 3. 0td &

408 EA0IR.5. HE E 22(R.6. € E L0IR. 7. 2122 22 £ 20R.8. +8E &
22t2.9. ¥e ¢ & ote.10.07E &

SWww.sooandcarrots.com



Day 66: ~IiZ0|, ~7| ujZ o]

= Because of , Because

It states the cause or reason of the action / state described in the sentence.

~ I 20]| is translated as “because of” and ~7| WH20]| is translated as “because”

The form is simple: Noun + 20| /Verb or Adjective Stem + 7| uf 20| (*O|C} = 0| 7|
rf20i)

Ex.

Z|&ei . v IR0 =A0{R. (Sorry. I’'m late because of the rain.)

gt Lst7] mf2of| Eojl 2 7tR. (I can’t go home because | work all night long.)

o2 M1 U7 W20l &2 9 0t K. (1 don’t drink alcohol because I’'m taking medicine.)
2 H7| i20j EYA|Z EtQ. (I take a taxi because it’s too far.)

=M uf2o 2ol 2 =0, (I can’t hang out on the weekend because of my homework.)

Ql. & (=20l / 7] th=0ofl) & =0tK.

Q2. OtH = ot HA(=Z0ofl / 7| WiZof) B 7t HF 1.

F Q3. M= MUHo|(H=Zo / 7] HE0) SFHSS B&I5| 7I=2X0F 3l .

2 2|0 K. (*oto|=: children)

of7|0| M A& A1 AU, (*#=3tct: happy)

ey eS|

-

| <o Ot R (*2MCk: scary)

Q7. I’m angry because of my older brother —

i‘ Q8. I have no time because of my part-time job —

Q9. I don’t eat pork because I’'m Muslim —

Q10. I’'m healthy because | exercise —

Answers: 1. T{20] 2. 7| TH20] 3. 7| T{20l| 4. 00| S WHE0l| 5. H=3t7| W20l 6. FH7| h20] 7. 2ttt/ & W20l 2HtR.
8.0LZHI0|E T 201l NN 24 ﬁaﬁﬁﬁ%w&g E&Bfﬁ%%ﬁm 2ol AL, 87



Day 67: ~X|2? = ~ Right?

Itis used to get the listener’s confirmation of the speaker’s assumption or statement.
Itis translated as “right?” “Isn’t it /she / he?” “Aren’t you?” “Doesn’t it / she / he?”
The form is simple: Verb/Adjective Stem + X|R? (*0|C} = 0| X|27?)

For past tense: %/UXIR? Future tense: ~ (2) 2 HX|K?

Ex.

23 M! $H=2210|X|27? (Suhyun! You are Korean, right?)

20| ZOLSHX|R? (You like tteokbokki, don’t you?)

THEHAI =0l A] AFH M| R7? (It’s cheap if you buy it in a traditional market, isn’t it?)
Y 22[Zol 8 AXIK? (You will come to my house tomorrow, right?)

Ao HUAXIL? (It was fun last Sunday, wasn’t it?)

Practice

QL. AF2|E} M= HEXHXIR / OIX|R)?

Q2. ol My Zo| H(X[R /2 71X K?)

Q3. ¢=0{E & = (XIQ?/0lX|K7?)

Q4. N1E|2 2SS ? (*A0{3ICk: to hate)
Q5.0| OH7tE MY ?(*2EACk: tasty)
Q6. 22| 2L 7 (*of|8aCt: pretty)

Q7. You live in New York, right? —

Q8. This bag is cute, right? =

Q9. You didn’t go to school, right? =

Q10. You will become a lawyer, right? —

Answers: 1.0|X|R 2. 2 AXIR 3. X2 4. H0{3IX|R 5. AAX|K 6. |HX|Q 7. FS0i| HX|R7? 8. 0] 7t FHX|R? 9. tuwof o

AAETI0 ER AT A www.sooandcarrots.com



Day 68: ~(2)HA| = While ~

It indicates that the first action happens simultaneously with the second action.
Itis translated as “while”.
If the verb stem ends with a final consonant (&) — verb stem + QHA

If the verb stem doesn’t have a Bt & or the &%l is @ — verb stem + HA
*irregulars : ECHto hear) = E2HA / ECt(to help) > TR HA

Ex.

TV EHA &H|SHR| OtM|R. (Don’t do your homework while watching TV.)
242 ECHAM AU . (I play games while listening to music.)
7|EtE X[HA c2fe Ao, (I will sing while playing the guitar.)

HL| W& stEE stEHA HE0 K. (Jenny chats while doing her makeup.)
XS HOHAM FHE 20 K. (I saw a movie while eating some snacks.)

Practice

Ql. 2TsHHAM /B M) RLHES EX| OM|R.

Q2. ASIEIZ BHS(QTA / BIN) 21222 S8 Hol2.

Q3. 22 Y(QHAM /BHAM) 2tH|2 S0{K.

Q4. L2HE SR, (*AFY3ICE: to take shower)
Q5. ZAHS AME Q. (*2Ict to run)

b

2 LK. (*7I=3lCk to pray)

Q6.

Q7. I think of my mom while writing a letter —

Q8. | debate with friends while eating —

Q0. I cried while confessing —

Q10. | cook while waiting for my wife —

Answers: 1. A 2. B1A] 3, ORIA 4. ARRISIRIA 5. E2|BHM 6. 7|t M 7. HAIS MBA HOIE 2R 8. HovM HUPEN

ESci9 9, TH5IT A %W%’Hégﬁ B*ééa%ts .com




Day 69: ~ XtO}X} = As soon as, Right after

It expresses that a certain action happened immediately after the previous action
occurred.

It translates to “as soon as”, “right after”, “immediately after”.

The form is simple: Verb stem + Xtatxt

Ex.

Zlof| =&FtRtOrA HEEE HK. (1 turn on my computer as soon as | arrive home.)
A0rE EXt0FRF 2A K. (1 cried as soon as | saw my mom.)

OF& S HXtObRF Lt Ao 2. (1 will go out right after | eat breakfast.)

EHSIRIOML L2 AZMO|K. (I started working right after | graduated.)

SHE AZSHAIOMAL EE0{K. (I fall asleep as soon as | start doing my homework.)

Practice

Q1. M2|7t2t3 (XtZOFAt / A2 XHOLA}) 22|E Aol K.

Q2. 0|2 & (RE=XIOFR} /LS XAOIR}) Tf HANH K.

Q3. &S (HXIOFR} / HLXIOMA}) M A H0A 2ktofR.

o
>
LA
»

Q4. 41t SHIIMA L. (*mLt: to fight)
Q5. M 7t QU O R. (*ALLH: to buy)
Q6. FAl2 7tA0| SEIK. (*Zrk to sell)
Q7. 2 EXhe= M7t 2tR. (*H22C}: to call)

Q8. I sleep right after | wash my face —

Q9. | eatright after | wake up —

Q10. I will buy a car as soon as | become 19 —

Answers: 1. Xk2Xt0FX} 2, BHEXIOFX} 3, ZAXHOFR} 4, ML XFOERF 5, AEKFORRE 6, ZERHOER} 7, 22 X}0FX} 8, M|4=SEAHORR} X2,
S ol e 10 20 20 W -so0andcarrots.com



Day 70: N + IIf / V,Adj + (2) = [}

= When, During

It shows the time or duration of a certain action or state.

It is translated as “When”, “During”.

Noun + If

If the verb stem ends with a final consonant (&) — verb stem + 2 Iff

If the verb stem doesn’ t have a bt orthe 2l is @ - verbstem+ 2 i
*irregulars : =CH(to hear) > &2 M / ElZf(to help) > =2

. W
o N
Ex.
AR A I HE 2FE FO{R. (I drove for the first time when | was 20.)
et i ofC|ofl 7tR? (Where do you go during the vacation?)
B o2 nf U2 AX|0MM K. (Don’t talk to me when I’'m eating.)
O{XtxI TS ot o] 2 &2 70l K. (I will wear these clothes when | meet my girlfriend.)
CHEHM i KF|AZ MO{R. (I had my first kiss when | was a college student.)
. J
Practice

QL. (Maldts m / d e ) AU S Sl .

Q2. (s /8 m) 2HE =7 K.

)
.,

Q3. ZOoHX|E (== © / = W) EHHR.

- = Q4. st=0f| AN K. (*of2ict young)
Q5. HO|EES Z0IHO Q. (*£&H4: middle school student)
Q6. & HAE B HO|Q. (*7tck: to go)

Q7. | ate Tteokbokki everyday when | was 10 —

Q8. I will sleep when I am tired —

Q0. I think of my boyfriend when | hear this song —

-
)

3 4

Q10. | eat chocolate when I’'m sad —

"Www.Sooandcarrots.com

Answers: 1. el T 2. WS 3. &= @l 4. 01 w5, SOt w6, 2 1 7. & & ff 0HY HHO|S HRAOR. 8. T2 i & Aol
9.0l AESEWY



1. Please fill in the blanks:

-

\.

R: 2L|7t M. & Ot
M: &= O}O|AE|E
R: X& &7[of 25
M: Stote., X}7t
R: 4. 2& }

LEOFMER?
=E 0 K.
. EOF M RAHKIE

OfpA

2. Please choose the word that doesn’t fit in.

-

\.

F5HX| oM R!

A:E|H|E £ B: ZtAS2 & C: 25t D: At

3. Please choose the right answer:

r

\.

Q. M=0f| & X| Z0tLt Ro{R?

A. Mo & f
B. M=0f| &XtOtx} T 7170 HHRAHR.
C. M0 & x| &= & o,

4, Please choose the wrong sentence:

-

N\

o >

2 H RElIm
=2 o4

=2

mu

ot

FSEAtOEAL Sotzloff 7tE Aol K.

J

o
2

oo w>

= R i

min
I > o

H

22X 50| AR,

5. Please choose the word that doesn’t fit in:

-

-

Ok

oCow>
=
=
12

H ok i o>
ol ox of

4T
i

leie /ot /7l 2o/ 2 Qe /X /2R

www’§ooandcarrots.com



BHof LjQl FLECHR, OIS 51T A0jR? 2417 Htol .

If you were to die tomorrow, what would you like to do? You have 24 hours left.

www.sooandcarrots.com




Itindicates how long it has been since a certain state existed or something occurred.
It is translated as “Since” and is usually used with verbs such as : EICt or €L} (to
exceed)

If the verb stem ends with a final consonant (2%l) — verb stem + 2 X|

If the verb stem doesn’t have a %! or the 2t&l is @ — verb stem + L X|

*irregulars : ECHto hear) = &2 X| / &Ct(to help) = =2 X

Ex.

Z210f A x| A o] AR, (It has been over 10 years since I've lived in Suwon.)
A=st x| 670 =R K. (It has been 6 months since I've gotten married.)

=2

=2 #2 X Lo} o E[RA L. (It hasn’t been a long time since I've quit alcohol.)

HX|IE 2 x| YFU0| HAAHK. (It has been over a week since I've sent the letter.)
10| 7|2 K| A HO| E|AN K. (It has been three years since I've raised a cat.)

\2\, Q2. HHA SAZ (ES X[/ 2 X|) &0} o £ KL,
(g )
“’ﬂl-& Q3. 17|12 et (H2 X[ /Y X|) Ml EHo| £ K.
Al
* Q4. =20 20140] HAO{R. (o to come)
m Q5.TVE 550| £/940{R. (*Hck to see)
X
= @ Q6. 2t} UFU0| HAU L. ("MLt to fight)
e Q7.0| M= O|E0| AL, (*Ck: to read)

]
\

5 A ZtO] K|} L. (*AI=tStCE: to start)

oot
Okl
uf

Q8. Al

Q9. It’s been two days since I’'ve gone home —

Q10. It’s been five months since I’'ve helped the children —

Answers: LEI2 X| 2. §2 X[ 3. |2 X[ 4. 2 X| 5. 2 X[ 6. M2 X| 7. 42 K| 8. A|=fet x| 9. Fof| 7t X| 0]£0] &[A0{R. 10.010|SS

T2 X CiA 2ol E[AN K.
www.sooandcarrots.com



It expresses the end of one behaviour followed by the beginning of a subsequent
behaviour. It’s very similar to Day 54(~20l|). But ~11 L}A] implies that the first action
is over.

It could be translated as “~ and then” or “after ~”.

The form is simple: Verb Stem + 11 LEA

Ex.

=R ot LEA 2SS Q101 R. (I do my homework and then | read a comic book.)
M LEM FAZ O Q. (I wash and then | drink some juice.)

MZE MDD LIN 22|E 8HQ. (I buy ingredients and then | cook.)

APEIE WD LEM FHHI2EE E2{F M K. (Please take a photo and then return the camera.)
RS Y1 LM ZXHE M. (I wear clothes and then put on a hat.)

)

AR QL Ei=0{E (BRLEM /HHR 1 LEAM) Ef =01l 7K.

.|>

,:.}-11 Q2. SHIE (Mt LEM / BLL LEA) & 702,
—

E Q3. HAE (H LtM /2HS1 LIM) LI EE Hoy FHmof 7t2.
s L
v Q4. o XtEI 12t 220 Q. (*slloixICt: to break up)
aa
' . Q5. &2 RE|Z SO Q. (*Nck: to wash)
Q6.HAY LSEH R, (*ECt: to hear)
'\ Q7. Think and then answer —
L

Q8. What are you gonna do after studying? —

c:
—
% Q9. | buy popcorn and then enter the theater —
£

o Q10. I drink coffee and then start working —

Answers: 1. I3 LEA] 2, 2L LEA 3. 2430 LEA] 4. ORI 3 LEA] 5.4 (ETLIA T 420800 L 2opila 8. BReta

LEA 2912 g AHole?9. WlLé@'*ﬂgﬁoaﬂ 10, de é rirT%)\ sie.



It expresses a change of state or situation, usually regardless of the speaker’s

intention.
Itis translated as “happen to ~”, “end up~”, “become~”
The form is simple: Verb Stem +#| £|X0{ & (*short form: ${0{R)

Ex.

=20 E EotA £/} 2. (I happen to be good at Korean.)

Lol 20l 74A| E[RX K. (I happen to go to Japan next year.)

Z| 20 2 E EotstH K. (1 happen to like ballet recently.)

& SUIZ O|AFSHA EIA0{R. (I ended up moving to the next town.)
CHSI0IA 152 SHAl =01 K. (1 happen to win 1st place in a contest.)

1
- QL esS d® T (74Xt / 7HH) =il K.

Q2. TO| OHItA (RISl / Bl HBHA|) = A K.

ro

Q3. gt=2l TFE (AA [ A0 A]) A K.

HoM =2HE

At

(*£ 2Lt to sing)

n
\

(*XICt: to sleep)

I | Q5. HF =0, T3 TolA
i |

s © 0 Q6.010|= 7tE

(*ZOt5tCE: to like)

)

f#ﬁ Q7.1 happen to learn horse riding —

$9_
" Q8. I ended up breaking up with my boyfriend —
a 6
."A

4 Q9.lended up loving my enemy —
]

Q10. I happen to wake up early —

Answers: 1. 741 2. 4281 3. A1 4. B2 E U012 5. X H U012 6. FOSHA| £[RA0IR 7. SOLE B 2| = U0 2.

8. HAREIT e S|0{X|7| =AU R. 9. HE ASHA| =AU R 10. L& HO{LIA E[2A0I 2

wwWw.sooandcarrots.com



It expresses the surprise of realizing / noticing a certain state or information.
There’s no exact translation to deliver this nuance but it’s similar to “wow~" or

“really~”
The form is simple: Noun + (0])H|2 Verb/Adjective Stem + 4|&

Ex.

ZOtX|7t #FUIR. (Wow, your dog is cute.)

g & 224K, (Wow, you sing well.)

ShEHAlo] RS 2. (Wow, the restroom is very clean.)
ZEE go| fU|K. (Wow, you studied a lot.)

ol oIHO|H|R. (Wow, it’s a pretty doll.)

QL M2 TEst A (UK /olulR).

Q2. OF=F Sil= HX|(HIK / olHIR).

O | Q3.0 gst(ojolulR / MolHR).

pD Q4. BAO|
£

Q5. ZX7t HF

(*Z=&3ICh: quiet)

(*o{&Ect: difficult)

L e M as A
¢, Q7.Wow,it’sraining -
‘5% Q8. Wow, the weather is cold —

- Q9. Wow, it’s a unique design —

n: ¢  Q10. Wow, you drew so well =

Answers: 1. 0|d[2 2. H|R 3. MDA R 4. ZEStH|R 5. OfFUIR 6. UK 7. H7F QUK. 8. EM7F FUR. 9. SE3t CIXtelo|H Q.

10. 8 2HIR.

www.sooandcarrots.com



It indicates ability and the possibility of a certain action.
~% A0 is translated as “can”, “able to” and ~4= 81018 is translated as “can’t”
If the verb stem ends with a final consonant (t.':**') —verbstem+ & -1“— Adoje/elole

If the verb stem doesn’t have a 2% orthe &%l is @ = verb stem+ 2 £ 0|2 / 20|R
*irregulars : ECH(to hear) > &2 = A0 / ECH(to help) > =2 £ AR

. (I can speak English.)
. (I can eat chicken feet.)
= = alojg. (I m sorry. | can’t meet you tomorrow.)
EfEI7f Ofﬂf M O o|& ZE 4 2l0{R. (Because my legs hurt, | can’t walk anymore.)
RE0 = THollM L £ A0 2. (These days, | can work at home. )

QL. =XtM Tofl (7+2 / Z) += A0 K.

Q2. HEX| AN (S / E) == AN K.

5\ 4
iy
: Q3. /HE o2l B BUIM (B2 /=) = 8102,
H |
Q4. -HOo=E RIS UO{ 2. (*HHRLCE: to change)
OS Q5. 0|CH= A R. (*XICk to lose)
n Q6. O AlEZ A K. (*0ILIStCE: to hate)

/ I Q7.1 can write Hangeul —

'y Q8. I can see ghosts —

v e Q9. | can’t wait —

o Q10. | can’t live alone —

Answers: 1. 2 2. 22 3. 5 4. HE #5826 0[9g 7. Z 2+ 0lg.8. A B + 01, 9. 7|0t =+ glofR.

Lz EES
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It indicates the purpose, goal, or intention of a certain action.
Itis translated as “for”, “for the sake of”, “in order to”.
Noun + /2 2IsllM (*Day 15) / Verb Stem + 7| Sl A

Ex.

LI2ZHE oA HH™oIM WA K. (I fought in a war for my country.)

Ol0|=2 H7| fIsiM $H=0]l 20 K. (I came to Korea in order to see my idol.)

HZE 2AshM DHY =K. (1 jog everyday for my health.)

AtSHE AR fIiM RS0|E & 4 AR, (I can do anything for the person | love.)
2 G E TE7| IoAM 3$6HR. (I study in order to make a good movie.)

OHtA

44 QL. 2 A0l (2|2 / =71) /I3iM =23l K.
My
A Q2. (2 / E) RIiM 7|8l 2.
o o Q3.3Y(S/E)=HMMISKE MR
= \ Q4.0122 = 22 ot A2t SQt ATMO|R. (*T2Ct: to choose)

Q5. ARt M0 7}R. (*TiLict: to meet)

dw =
l Q6. CAE MO K. (*Z#=4l: wedding ceremony)
%

Q7.1 work hard for my family —

Q8. 1 drink a lot of water for my skin —

Q9. | travel to find the treasure —
}? -
(9]

Q10. | eat a lot to overcome the breakup —

ne

Answers: 1. &|7|

2.£3.24.127| M 5. BILE| YoM 6. Z2AE M 7. 7HF
D0 PN R. 9. EES 37| QY

WWAV 00N dcartots. ¢om

FLI\O

PAsh A

Hi ol Lalle.8. LIRS oAl 22
=
=



It is used to express how much time or money it takes to achieve a certain state or
task.

You use H2{ R for time and £0{& for money / price.

The form is simple: Verb Stem + = Ol ~ B2{R | S *irregular: BHsC > BlEE o

Ex.

=Hote ol & A2t 22 K. (It takes two hours to do homework.)
A== o 1°*0| S0{8. (It costs a billion won to get married.)

HAM HE o AN 2 Z2{Q. (It takes 30 minutes to eat lunch.)

HZ|E FMste o 52 @ S0 Q. (It costs 50,000 won to dye my hair.)

&2 X|=25tH= Ol & A|ZHo] 2. (It takes a long time to cure cancer.)

.B

Q1. o 7h= ol 15& (Z3HR / S0K).

Q2.0] 7tyE At o 102 & = (AR /SAAHK).

Q3. KTXZ R&7HX| &= AlZh o[ & (BE 7o / = 7o R).

M\
v \
y

Q4. ZXIMHE UEE O MY 2 Hx
Q5. HetE|ASk= o etEol 202 A

Q6. ZAFEE 1X|= o 152 &

Q7. It takes two years to learn Korean —

Q8. It takes five days to read this book —

os Q9. It costs 5000 won to buy a lottery ticket —

E Q10. It costs 40,000 won to rent a car —

Answers: 1. 2212 2. SU0|2 3. 28 702 4. F2{R 5. 50|18 6. E0|R 7. 2t=0{E = Ul 24 Z2{R.8.0] M2 2= ol 5¢

el 0 B NS H et 2 B0l 10, 4 N0 WS SR s arrots.COMm



Itis used to express anintention or an expected result. A prerequisite or a condition
follows in the second clause. It is translated as “in order to”, “if you want to”, “if you
intend to”.

If the verb stem ends with a final consonant (2%!) = verb stem + Q2{H

If the verb stem doesn’t have a &t or the Bt%l is 2 — verb stem + 2{H
*irregulars : ECHto hear) = £22{H / ECk(to help) = =22H

Ex.

3 748 DL 320 MK, (If you want to meet that singer, please come to Korea.)
=rhofl 7t2{™ HA S EROF S K. (If you want to go to Hongdae, you have to take a bus.)
EESiX|2{H M2 20| 9O M. (If you want to become smart, please read many books.)
2tHE Hoe™ A= 7tM|R. (If you want to eat Ramen, please go to Japan.)

sh2of| M A2 =20 E R M K. (If you want to live in Korea, please learn Korean.)

QL. ot JhdS (A2 / Al H) #ishy 2Fof|l A 7|Ci2{of 3 2.

—; =
-

Q2. Z2 A= (ST /=22{H) & 1 7m0 7t EM|K.

Q3. =8o| M= (H{H /

F_E'.

) EAO| 7HH 2.

& ﬂiiﬁ

Q4. M= PT &2 2= Al £0IR. (*253iCh: to exercise)
|-= Q5. Hol= 0| 20|t HR0| FHMIR. (“sh2Ck: to learn)
—_—

'&zonﬂ - = oo pe
i % Q6.3HO0|E S=20]| 710f Sl 2. (=Lt to see)
I
i. ’ ;‘ Q7. ot=0i| A 7t HR8i 27 (*#Zsict: to get a job)
«
W s.22 184t 0| At0| E|0{OF BHR. (*DRAICK: to drink)
7EE 0 Qo.o=ES HolZto| LRHR. (*712Ck to grow)
P e QLO.HIEYIE BXIX| 2% AO|LIA| K. (“eick: be/do not)
Answers: 1. Af2{1 2. 5034'343 210PiB 4 2 S512{3 5. Y223 6, 271D T 6+a4m 8.0AliR 9, 7/ 9249 10, 0B

W.so0andcarrots. cor



It is usually used when quoting “word-for-word” what someone said, thought, or
wrote.

"Quoted speech" + 211 8fL / "Quoted speech" + Bt1l + Verb such as ZstC} J24{C},
SO{EC, W2stet, ML}, REISIL, SCH M0 ULt

It is often used in daily conversations rather than written texts.

Ex.

Ottt 7t “22| Zo| X[ of|t” 2t sHR. (My dad said “My daughter is the prettiest”.)
“B2|2AHSIMIR 72D M0 A0 K. (Itis written “Please separate the trash”)

“Z0| o & FAR72t BERHO| 2. (I requested “Please give me a piece of paper”.)
“etH ool o{gA 7tR?72tn 20K, (I'm asking “How can | go to Hapjeong station?”).
“st=0f gu|”2tn MZHo{ 2. (I thought “Wow, Korean is easy”.)

QL. “1+10] Ho?’2t1 (S0 / 20{2R).
Q2. L7} “EAb= T SCHop et (AR R / A0 AN ).

Do Q3omol g AsR R (W / et K).

e Q4. EXIM “LE 20| |1 HCPEt (Mol / S0{%0R).
.," o
:;5 Q5. “XleeZ Zotdlie”atn (NSt / AXSHD) Mo K.
b 4
o
e Q6. I say “I don’t know” —
|
“ay
X Q7. I think “I have to study harder” —
@ Q8. I requested “Please find my car” —
I Q9. Itis written “Open this door” —
) Q10. I write “I love you” —

Answers: 1. 20{2t2 2. 2301 R 3. 442 4. W2{30]Q 5 WSt 6. “S2tR 2t o). 7. “H EYo| SF ol 2t A2fsiQ.

SR S v S O\ SO0 ENEatrots 1eom



It expresses one’s guess or feelings based on the outward appearance of something/
someone.

Itis translated as “look” or “seem”.

If the last syllable of the adjective stem has the vowels | or - — |}/ 0} 20K,

If the last syllable of the adjective stem doesn’t have the vowels For - — { /0 E0{R.

For stCt (s R) adjectives — ol Ho{ K.

*irregulars: CECH — 2 Ho{Q /WECH - Wt Ho{Q / Yt — oY EoR

Ex.

olL|= w7tMS o oflilf E0|R. (My sister looks pretty when she wears red.)
ofx| =2 22t 20 K. (You looked a little different yesterday.)

OfL|A M. HZ MASH 204 K. (Annis, you seem very bored.)

3 AA HIM 204K, (That watch looks expensive.)

SAl M= 17|17t Zot 2oiR. (Ruxi looks popular.)

QL. O|H| QF Ot X|2? (LSt /ALSH) Ho K.

Q2. S'4ojol|le? HE (FHo / HHY) 2K K.

d
‘ Q3. &OtLt 7| R 0{R? OF&] (&to} / ZH0{) EO{ 2.

"] H} = *LA ke i
:h Q4. &to| ot (*Sick wide)
& Q5. 0| EHl&= HF (*o{Ck: difficult)

q
& Q6. £2 O UAXIR? (*&=stct: happy)

Q7. It looks tasty —

=
)
)
.‘NN

Q8. You look tired —

I

Q9. You look young when you smile —

Q10. It seems easy —

Answers: 1. 423l 2. 7019 3. {0 4. §10] 20{2 5. 0{2{9] 20{Q 6. A5 20{L 7. S0 HoiQ 8. I|23) 20{Q 9. RO

celorsl =2 10 il . sooandcarrots.com



Quiz Day 71-80

1. Please fill in the blanks:

CHIE M 25 et

oF Hat ofjuy
YATLICEH 2ot = =0 67HE Hx

R .
C: otE ! ol ASHUEL| =tgS =St
R

C

2. Please choose the word that doesn’t fit in.

4, Please choose the wrong sentence:

A HE W F2 A= 20 K.

B. d35t2{H A5tA| 40tof 3.
C.D[2HE ?IBliM BOE SR K.
D. ZOtX|E 7|2X| 520] =0 R.

5. Please choose the word that doesn’t fit in:

mjo

S CE!

o0 w>
o
Ral
=
x

Answers:
1. E0Q /A foe /ue / 2o

www’sooandcarrots.com
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Essay 71-80

5, 0E, 7tS, A2 30| 7t E015h= AI=0| ARIAZtR? off 7+ Zoksi? 2 A=
FAS NR?

Among spring, summer, autumn and winter, what is your favorite season? Why so?
What are your favorite activities to do in that season?

www.sooandcarrots.com



Day 81: ~(2)L /= moj0|R

= Fairly, Generally, Rather, Tend to ~

It states a characteristic in a non-decisive way or a tendency to do something when the
characteristic is more / less than the average or usual.

Itis translated as “fairly”, “generally”, “on ~ side”, “rather”(with adjectives), “tend to” (verbs)
For Adjectives, use &AL form (*Day 29): ~ L, 2, 2... (ex. &, 2, #02, &=

For Verbs, Verb stem + = Ho[o|@

Ex.

o{2 mi Ltojof s 7|7t ZH2 Mo|A=H X2 2 HO|02.

(I used to be fairly short for my age but now I’'m on the taller side.)

Of&lofl 20| 2= Mo|0f|R. (I tend to eat a lot in the morning.)

M| O XtEI = o 7| ECH= 7|0{ 2 HO|0f| K. (My girlfriend is rather cute than pretty.)
UZxA0)| $HH M= 2F5H= MO|0 K. (I tend to exercise once a week.)

O] 2= = H|M HMO|0j| K. (This brand is fairly expensive.)

Practice

z QL M| SH2 (2Wet/ d/ist=) Holo K.

[ 1) 2 .
Q2. 28 A (4 / M) Holoj2.
=i

Q3. O{X| ZM7t(H2 /H2) HOIAN L.

‘b
'}. 4
4? Q4. EM7ZI LXIE . (*Z0}3lCt: to like)
' b
n
o Q5. 0| HMe . ("E2CE: thick)
Q6. A|=0| . (*LItC}: bad)

Q7. This house is fairly cheap —

Q8. My boss tends to work hard —

Q9. I tend to wake up early —

135 <Gro

Q10. My friend tends to be smart —

o0x

fAHE Sl

WWW.sooandcarrots.com

Answers: 1. W2, A= 3. B2 4. S0t5h= HO[0 2 5. F7H2 HO[0f|2 6. LI HO[0|2 7. 0] H2 ¥ Holo|2 8. X
st Mool 2. 9. &H LofLt= Holo|. 10 A Ft= L L5 THO0f



Itis combination of ~(2) /=8| = current situation + ~OF/0{ = = concession/contrast.
Itis translated as “although”, “even though”, “~but”.

For Adjectives, use #&A} form (*Day 29): ~ L, 2, 2... (ex. &, &2, 2,
For Verbs, Verb stem + =HIE

o

=3t)

—

Ex.

o] 7tet2 M o= EES K. (Even if this bag is cheap, it’s sturdy.)

ZA g2 717t #2 d = Ct2|7 Z0{K. (Even though Ruxi is short, she has long legs.)
s E'JOI H=O s 40| ¢t IHL. (Even if | eat a lot, | don’t gain weight.)

UM Ao|H=m| T A K. (Even if | woke up early, | was late.)

HEET0| S410| H2H T QA S M0{R. (Thereis a lot of food in the fridge, but | ate out.)

0% Ml

QL. 22| L= 717} (B2 = / B E) HAHEH7E oK.

~ & -
.

Q2. 3R E B3| o (st2Hk / sh=H k) dX 0| Z0tR.

Q3. =2 HO| (Ot 20 = / Dt =H ) F0] E2te

ﬁw Q4. Toi| Lol M 22 @101 L. (2t many)
g Q5. MEFZ Tto| OF =0, (4Lt put, pour)
o Q6. i 2f AL Y L? (*=ck: to listen)

Q7. Even if it rains, | have to go to school —

Q8. Even if It’s heavy, | can liftit —

Q9. Even if I drink alcohol, | don’t get drunk —

- o

Q10. Even if 'm tired, | have to work —

Answers: 1. W20 = 2. SH=H|E 3. MitHIE4 B2 s geds / E™% E 6. SE0IE 7. 87t LEC = ofuof torsi L.
20 O

|
B 7ARHIE & + 2019 9 R BASHE o ey 0 Hims
WWW.sooanddéarrots.com



It expresses the possibility or probability that something might happen in the present or
future.

It’s translated as “might” or “maybe”.

If the stem ends with a final consonant (Z%!) — verb/adj stem + SX| £ E2R

If the stem doesn’t have a t.':”é! orthe #& is 2 — verb/adj stem + 2X| & S2IR

*irregulars :=LCk(to hear) » &8 X EEH?./EIZr(to help) > =2 X|= 222 / &CHcold) — F& x| = 22t

Ex.

BO| AJHNM CF 2 = HEX|T Z2tR. (Because | ordered a lot, | might not eat all of it.)
T Atto| ol x| = 22tR. (That person might be the culprit.)

|22 guof g450| i2XI= Z2t_. (There might be no students in school.)
X2 Sthof At2to] H2X|= =2tK. (There might be many people in Hongdae now.)
oler=nl = 7|Cl2fof & X|= Z2tR. (Even if | reserved, | might need to wait.)

Ofbt

QL. CHE ASUX|T o2l 2Z (SIASK = / SIAX =) S2t K.

‘J\ Q2. S4F M7H QI 1|7} (22X T / 2X|F) 22tQ.

Q3. 2|=0f = EF7L MetE| HXE (MEX =/ EX| ) =R,

Q4. 0%l o| oF O™ B Atof| . (*2C}: to be there)
Q5. 1E7| HEHoH OL M AS . (*AFCE: to buy)
Q6. ! &7t . (*EL}: to hear)

Q7. The weather might be hot —

Q8. That necklace might be expensive —

T YU

Q9. I might go home early today —

Q10. My mom might call me —

Answers: 1. US| = 2. X = 3. X & 4. ASX = 22t *E*X T 222 6. SSXE S2Q 7. M HEXE 22t

PR EE T ww. sooandcarrots icom



It indicates that there is no other choice but to take a certain action or be in a certain

state.
Itis translated as “have no choice but~”,

expected to be~”,

supposed to be~”

If the stem ends with a final consonant (”**') — verb/adj stem + £ £4hof| gloje

If the stem doesn’t have a 2% or the %l is @ — verb/adj stem + 2 $4}0]| lojR
*irregulars :ECH(to hear) = £ $-4t0]| 81019/5Ef(t0 help) = =2 #450i 81012 / ECH(cold) = F& Hiof gl

Ex.

7(I”OHM 2 2480 §0{Q. (Because | am late, | have no choice but to be scolded.)
3o H g fuHo HA018 (To succeed, | have no choice but to make an effort.)
ZOZ HEAN L7 H[E =510 glul|R. (It's made of gold? It must be expensive.)

a4 7|Efae' Z=8tofl 210 K. (I have no choice but to just wait.)

H|MEX|2F & ~8hof] @101 2. (It’s expensive but | have no choice but to buy it.)

(" | QL e DYl 0t SHobA (of

©  Q2.HHIS AOfBEX|T Z0=

r
L'_ Q3. ™1 7| 2HM (Hot= =
Q4. HI7t oA k22
b

i
? Q5. =0| HRde. S

%o,

7o K.

. (*F|25ICE: to cancel)

. ("ZCt: to sell)

. (*5Ct: hot)

lif Q6. 25 40E7} Ht01Q?

TAXI

. (*EfCt: to take)

e Q7. M=2{0F SR, A

(*7HE L to reject)

2 Q8. 12l Hefe

. Q9. M RE[AIZL BHE RElE=

(*SFRULCE: tasty)

(*CHXICE: get hurt)

Answers: 1.0 £ 4= 2. 22 #3. %‘“” 4. 3|2 %’ 810l gIO1R. 5. & #5101 IO1R. 6. C12 =510 310K 7. & £=5{0i gloje
‘ O-i

S3RAEaITEE. com



It expresses relief about a past event or action which almost happened but didn’t.

Its original form is ‘#SICH” but it’s mostly used in the past form “tHZHo{R”

It’s often used together with the adverbs 72| and SHO}E{™ which emphasize its meaning.
If the verb stem ends with a final consonant (2t&!) — verb stem + 2 30| Q

If the verb stem doesn’ 't have a 2l or the 2%l is 2 — verb stem + = 30| Q
*irregulars : ECHto hear) > S HH0{ R / SCHto help) » =2 #RO{ Q.

Ex.
QEHIO|E ¢t Rte E =2 MM K. (If  hadn’t taken a motorcycle, | would have been late.)
2ol LHZ ¥ 01 K. (It's a typhoon but | almost got outside.)
SAl0| Argt #iZHO| Q. (The food almost went bad.)
INFdE= 8101H1 ek 01 . (Ialmost lost my wallet.)
HH

LR 3tLEA 22 R0 R. (Because | was so angry, | almost cursed.)

EfSQlCl| StobEH

QL AN ME EHAS (SIS M/ 3E #H)JU K.

W Q. oLfelH| da=2 (eSS M/ e H)Ho K.

..u: Q3. 30t F&E7(2t0] X[t SAS (HS # / H W0 Q.
% Q4. Ll atuof .(7ct: to go)
&
Ei Q5. AR M2 (*Ao{HZ|C}: to forget)
figs
™
. Q6. L& =AM . (BC}: to die)
) S
] ! Q7. lalmost fell asleep —

(E\ Q8. 1 almost sat on the handicapped seat —

AT
I Q9. I almost beat that person —
i Q10. I almost cried in front of my friend —
41h

Answers: 1. 534 “ﬂ 2. graret 3 oS

.Q%?ﬁWHS.%NH MR 6. S WHOIQ 7. HE WAHOIR. 8. =AXIMol| ot
EHoIR 9. 3 AR =

HJ\O
£
o
e
=2
2
fo
=
o
[Ragk



It expresses that there’s only one option, state or action available for a certain situation.
Itis translated as “only”, “just”, “all I can do is~”
If the stem ends with a final consonant (t.':**') — verb/adj stem + & ““0|01|9
If the stem doesn’t have a # & or the ## is @ — verb/adj stem + 2 ¥0[0|®

Noun + & 20|0l|R / Past Tense: ~%/US 2ol
*irregulars :ECHto hear) > 2 #0|0|Q / SCHto help) » =2 20|02 / ECHcold) — F2 #0|0|2.

- X

£ A=A g, 7|=g #0|of|2. (There’s nothing | can do. | just pray.)
TE odict= 71 OFE| A& Y 0|0 K. (Traveling to India is just a plan yet.)
S3}7|E HHE #0[0 K. (I just wish you to be happy.)

A2 glojR. Bt & 20| K. (I can’t buy this stuff. | just try to touch.)
2l 71 2101 K. CHE #0]0l|R. (There’s nothing wrong. It’s just different.)

m © ot O uot m

A

[o
Hu
o
oju
o
ks
r2
THT
N
S
inl
rir
rlo

', A QL wzhM O] Al(Y 4 / 8)0]0l| Q.

Q2. 1 o}HE 2F FOtR. A|0[ A7} (K|H S / 6| E) 0|0l K.

:" Q3. F7h“&X A02?” 2t S0 EH OX (RS / RE) #0l0 K.
Q4. 22Xt A1 (*~AICk to want to -*Day 26)
Q5. &St AL2H2 ofL|0f . (*ZR3ICt: quiet)
Q6. 2Nl =X 22H]. (*7Ict2ICt: to wait)

Q7. ljust tell the truth —

Q8. I just heard the rumor —

Q9. That guy is just a friend —

Q10. There’s no problem. It’s just little small =

Answers:

1 Y #0[0lR 6. 7ICHE #O[0R 7. A E Y #0|0|Q. 8. £AEE EAUS
002, 9. B

JSRACArTots.com



Day 87: ~(2) /= M3l

= Pretend to ~, Act (like)~

It indicates that the subject is pretending to be/to do something else.

Itis translated as “pretend to~".

For Adjectives, use &AL form (*Day 29): ~ L, 2, 2... (ex. &, &2, # 02, &=
For Verbs, Verb stem + = M52 / H30{R (Past tense) / M& 7{0l|R (Future tense)
For Nouns, Noun + @l 8842 (pretend to be~)

Ex.

off Ct 2 20| R HsR? (Why does a grown-up act cute?)

HZ oF XI$H|, Of= MO K. (We are not that close, but | pretended to know her/him.)
XH= MSHX| Ot 2! (Please don’t pretend to sleep.)

Qt= Aop7E ™ ZESH=E M|, (My brother pretends to study when my mom comes

by.)
Abst A2l AMste AtZHO| MY 2 MY R. (The one who pretends to be nice is the scariest.)
S J
Practice
M Quurled (e ) B Mo gERR?
o Y
-'@'- Q2. E2jotd (92 & / & H)ot= A Yot
j |
Q3.stojgdg M 7|7H(E A /32 )5l B K.
4:0
@D Q4. FLi= HE ollM (*GilE4C}: pretty)
h“" i
Lo Q5. 22 Hha1 Ao (*OFZL}: sick)
b Q6.2 E281 (*sHM: student)

3

&
b

__ Q7. pretend to listen to the lecture —

E

Q8. | pretend to be poor —

S

Q9. I act like I hate the song —

Q10. I pretended to be a writer —

H2 9= H3 2 X402 M2 5. 0FE Halje 6. oldel Haila 7. +4s E= Hollx. 8. Jttet M

n o5 s S 1 T Www.sooandcarrots.com




Day 88: ~(2)L /= CHAlo]

= Instead of ~, In return ~

Itindicates that a certain action or a state can be replaced or compensated with another.
Itis translated as mstead of ~”, “in return ~’

For Adjectives, use 28} form (*Day 29): ~ L, 2, ... (ex. 2, &2, 7{0i2, #=sh
For Verbs, Verb stem + &= L0
For Nouns, Noun + IZH“._"’II
L _J

Ex.

O] IpXH= M cHAlofl SHelo{ K. (This snack is not tasty, instead it’s cheap.)

gk CHAlOf| M2{EZ HAUN K. (I ate salad instead of rice.)

°*_'01I 7ts il 2222 82 (I do homeschooling instead of going to school.)
HI| chAofl FAZ DM L. (I drink some juice instead of coffee.)

M7t HAsA L. thilof 22[s8] FMIK. (I will clean. In return, please cook.)

Practice

QL. O] 7HE = (Ah2 / Ab=) EHl0| X 7HE = AMMIR.

Q2. ¢z (2 ol / cHlol) FH== Al AE 7o,

ﬁ; Q3. 0] 2 HollM (ZH7k2 / 7tnt2) Tl of =HO0| A2 K.
L |

Q4. ¥17|&= BIQIO{ Q. (*HIMLCE: expensive)

Q5. 80| Z7M40) L. 2SR, (*Z23tCh to study)

-
» 7 Q6.Ij2tM HatMES S0,

Q7. I will give her a necklace instead of earrings —

! Q8. I sleep instead of going to the hospital =

Q9. 1 listen to music instead of an audio book —

‘ & Q10. I called 119 instead of crying —

Answers: 1. Ab= 2. CHAION 3. 7}7H2 4. HIW CHAIO] 5. S5 8H= CHAlof 6. CHAOl 7. 71 Z0| thalof SZH0|E & o, 8. G 7h=

T www . s60andcarrots.com




[1Day 89: O}L}, O} ~L} = Anyone, Any ~

OFEL} / OFR~L} means “any” and it’s used to refer to a person, a thing, a place, and time.
For People:OtSLt (anyone), OF $HE(ILE, OFROf|AIL} (to anyone), OFRSEaILE (with anyone)
For Things: OFF7{L}, OFR20[Lt (anything)
For Places: O} L}, OFF RO|L}, OFF &ALt (anywhere)

O} C|A{LL, OF ROf| AL}, OFF EAGALE (in anywhere)
For Time: Ot& L} (anytime)

Ex.

Q29| = OtF kLt AFHX| g0t (Even if I'm lonely, | don’t date just anybody.)

N OFRHAMLE & XtR. (I sleep well anywhere.)

&t L0 OFF O|Lt 7k A0 K. (I want to go anywhere but school.)

OFF mijLt H2tstM . 7|Ch2| 1 12 A K. (Please contact me anytime. | will wait for you.)
OFRL} o7[0fl € 2= JA0{K. (Anyone can come here.)

Practice

QL. M= (OFRLtELt / OFRFALE) HA| GiOtR.

Q2. Ott= (OFF F&Lt/ OFF FA0ALE) 2l K.

Q3. (OFF wiLt / OFRZ0|L}) =2 2X| OFM| K.

Q4. =K. Y3 LE7HoF 3l 2.
Q5. HXE MMR.
Q6. 712 =Xt K. = &A%,

Q7.1 can read books anywhere —

Q8. You can cancel anytime —

Q9. Please just buy anything —

Q10. I want to hug anyone —

Answers 1. OFR7{LE 2, OFR A0 ALt 3, OFF Lt 4. OFRHLHOFRZO[LY) 5. OFR O H|LHOFR SHELE) 6. OFRLE 7. OFRE AL RS

R vwWW . sooandcarrots.com




Day 90: O} F &, O} ~Ic

= Nobody, No ~, Not an

OFR L / O~ means “no” and it’s used to refer to a person, a thing or a place.

For People: OFRE (no one), OFRSHE| =, OFROIH & (to nobody), OFR8FE (with nobody)
For Things: OFf A E (nothing)

For Places: O}f O, OFf &= (nowhere) OFRHIME, OFF UM (in nowhere)

Ex.

OFR = LI &S oK. (Nobody talks to me.)

OFRH|= ot 7k |10 40 K. (I want to get some rest without going anywhere.)
O} SHE|| = 2SHX| OFM|R. (Please don’t tell anyone-tell nobody.)

X £ Ol OFR AU X Z2tR. (I still don’t know anything - I know nothing.)
O3St T ALEl OF ®O{R. (I don’t take photos with anyone.)

Practice

QL. (OtF et = /OFR5tnE) ME2S & FOR.

1
|
==

Q2. MsHHOM QL= (R A= / OFF ClE) ¢F AR,

Q3. (OF? Rk /OFR ) H| ol S{X| OFM|2.

200

Q4. 0|2t 7|do| oF LI,
W o5 stas wxo sH20{Z Hi2 4 SUR0IR.
Q6. R HlL of e

2
@

Q7. d70[ 0

my!
=l
il
nx
o
20)

Q8. Nobody likes that movie —

Q9. I don’t need anything —

Q10. I don’t want to go anywhere —

Answers: 1. OF2BHE|| = 2, OF2 = 3 OtR & 4, OFR L 5, OF2L| A & 6,02 BHE| = 7. OFR ot 0= 8. OFR & 1 ot ot Z0ta Q.
9. 0FRAL LUK, 10. 0L T 710 41X 2ot
WWW.sooandcarrots.com



1. Please fill in the blanks:

s

M: CHL| M. O] M2 of2{2 ?
D: OfL| 2. |2 .

M: ®0| FTH 2 #oje?

D: 4. 212 &= UK.

\

2. Please choose the word that doesn’t fit in.

P
2 HotX| OtMIR.

A: H B: 0] C: AFZAE] D: A

\

3. Please choose the right answer:

°
Q. Q= 7|7} 7HR?
A.

A EX T =2tR.
B. 2 Moo,
C. 2 +8lofga.
D. 3X| Lo},

\

4, Please choose the wrong sentence:

-
A. 0] 22 SII2 thilof Zof ¢ Fote.
B. &7t GlO{ A =Xt Tof| Z =5fof glof K.
C. 2 Fat TN AR, = MUK,

D. O 2| R=0: e Lokt Q.

\

5. Please choose the word that doesn’t fit in:

-
2 Xk S2ta.

Alr

foj] Atzo| L% B
==
2t

oo w >
N oA

0z 12 4 P
N T o8 OU

Answers:
1. HojollR / Ho|of| R / H|= / OFRLt

www’sobandcarrots.com



Essay 81-90

ohof A5HS 7HE 4 UOHH, O X2S5HS 210 4022 0{EHA| O X5HE M1 H0|Q7
If you could have a superpower, what kind of superpower would you like to have?
How would you use that superpower?

www.sooandcarrots.com



It expresses that the speaker does a certain action on the way / while doing another action.
It is translated as “on the (one’s) way~” and usually used with “7}ct / C}”
The form is simple: Verb Stem += Zof|

Ex.

S8 7H= Zofl Zn0lof| A B F K. (I feed a street cat on my way to exercise.)
UIEOH 7t= 2ol =0 E012. (On the way to the USA, | stopped by China.)
Q& Zof ofo]A3Z At FM|R. (Please buy some ice cream on your way.)
ofClof 7t? st 7t= Z0|of|R. (Where are you going? I’'m on my way to work.)
E|25t= Zofl &2 2tR. (I do grocery shopping on my way back home from work.)

‘k QL. (L1ZHe / Lizts) Zofl M3|7| & HE|M K.
w
oo,

ﬁ"/ Q2. Zojl (2= / Q) Zoj| ABFITLE DitolQ.

Q3. WALE|| (7t= /7t ) 20l =S & A K.

(=
TR

— Q4. MELQ|X|E At HO{R. (*&s33tCt: to go to work)
n Q5. OFAIZ AR, (*E|Z3lCH to come back from work)
M Q6. 2EH}O|Z EfT Btmoj AL i@,

Q7.1 met a friend on the way to the office —

N P

5 Q8. I lost a cellphone on the way home —
<

Q9. I will call you on the way there —

S h
St Q10. I eat lunch on the way to the gym —

v

Answers: 1. LI7H= 2. 2= 3. 7hs 4. £23h= 20| 5. E[23h= Z20f 6. 7h= 20| |7 AR Jh= 2ol TFE Bhtol. 8. Fol 2= 2o
} H A 2 Al

6
s R s SR {ww . sooandcarrots.com



It indicates the positive effect/result caused by a certain action, state or thing.
Itis translated as “thanks to”, “because~"
If the stem ends with a final consonant (&%) — verb(past)/adj stem + 2 H&0j|

If the stem doesn’t have a 2%l or the g%l is @ — verb(past)/adj stem + L H&0
*irregulars :ECHto hear) —» E2 '51—Er01| / &CHto help) = =2 &0 / ECH(cold) — F2 HE0|
For present tense verbs: Verb Stem + & &0 / Noun + 5 &0

Ex.

SNt E2 HE20| Tj3Hof Z 4 JA0{K. (I can go on a picnic thanks to the good weather.)
O|At MM HE0| AZHEO{R. (I became healthy thanks to the doctor.)

D3 e wre ool chstoll 2401 2. (Thanks to receiving the scholarship, | went to college.)

C
S{siFAlE 20| 2| LK. (Because you cheer me up, | gain strength.)
| Zt &0 o Z2{R. (Because | slept a lot last night, | don’t feel sleepy.)

;:@ QL. stm} (2 / 71 e) 2ol SX| 2ote.
D Q2. (Yoke / oh) HEof M4 et K.

[ 4
_‘% Q3. 22717} (2 / #E) o

ofl k0l £x| 01K,

HI

ll.lfi'il Q4. QS X| AOIR. (*X17E: friends)

i'l‘ Q5. 0] 2Zoll 2HI7t 2012, (*258ick to exercise)
e j Q6. EHQlo] HHEY K. (*=H|sICH: to prepare)
é Q7. Thx to my Korean boyfriend, | am good at Korean —

Q8. I caught the culprit thanks to the CCTV —

-

Q9. It doesn't hurt thanks to the painkiller —

A,

4

J Q10. Because you gave me the umbrella, | didn’t get wet —

Answers: l 7%”@- ,%*5%3 WHE 4. J?% Heol 5. 28t §&20 6.
o

O i S00ARACATTts c



It indicates the negative effect/result caused by a certain action, state or something.
It is translated as “due to”, “because~”, “~is responsible for (a negative result)”
If the stem ends with a final consonant (E':”é!) — verb(past)/adj stem + 2 Etof|

If the stem doesn’t have a Bt or the Bl is 2 — verb(past)/adj stem + L Etof|
*irregulars :=CHto hear) — £ &0l / SCHto help) = =& &0l / ECHcold) — =& &tof|
For present tense verbs: Verb Stem + £ Et0f| / Noun + &t

Ex.

=2 0FA EHojl oFAlofl A Lo{%tO{R. (1 woke up late because | drank alcohol.)
Ifui= L] 0|0 K. (My sister is responsible for the defeat.)

=0| 2= Bl E22 2 K. (Due to the snow, | can’t go to work.)

L2 20| H2 Btof| 40| HO{R. (Due to eating too much, | gained weight.)

F72 W2 Eto| =Xt oK. (Because | fought with my friend, | ended up alone.)

QL. M7t (E2 / H2) &tofl Ct= Eof|2t oK.

Q2. E|ZUZ (Lo{tHZl / QAo{E2l) Btof & S 017t U0 R.

1.1 Q3. (H EAEIF Btof| / ™ AR = Bofl) HAE = 2o,

5 Q4. NZ2t2 20| =AML, (“&2siCt: to be mistaken)
p
o9 Q5. FHNIM TF0| 2R, (*rSCt: to make noise)
“g-:?l
S il gisto 2 K|ZHO| 2. (*EtCt: to take)

Q7. Due to believing that person, | lost money —

@ Q6. XI5
2

Q8. Due to the cold weather, | caught a cold —

E Q9. Due to the computer breaking, | cannot do the homework —

Q10. Due to losing my phone, | can’t call you —

Answers: 1. G2 2. 40t 21 3. ™ HXFEIF Blofl 4. A12}%t SHofl 5. [ E = &tof| 6. EF 5H0i| 7. 0 AF2IS 2 ‘8 St =8 sRlof L.

8. SHU7I X2 210l 2710l Z3H0IR. 9. AW SO GaTTdEar oS Gl “E =i



It is similar in meaning to ~& (even/also) but used in conjugation with negative
expressions.

Itis translated as “even”, “so much as”.

Noun + ZX}

It is often used together with ~2/& 718 which means “let alone”, “not to mention~”

Ex.

3 A2 2= XA 22tQ. (1 don’t even know that person’s face.)

3 AbEh EE 2P0k, (I even know his house.)

X2 100¥ =X} 101K. (I don’t even have 100 won now.)

off QIAtZEXL o sHR? (Why don’t you even greet me?)

e HY KZ=AH 2 AFR. (I can’t even buy a car, not to mention a house.)

B oLwe omars e (873950 gol.

Q2. M= A (H7] /&) =Xt o 2 K.

»
.. 9 Q3. &2 St ofl CHAX[TE QF LS. (2 / HEtH) =X} OF SO R.

f Q4. 3 YXt= EH2 H'E Ot SHR., (*AIY: game)
S X
= Q5. 80 = AHY SIZHQ. (*8+=20{: Korean)
1 Q6. &0 ZHO| A A ME R LOIZo{ Q. (*Hok: mom)
Ao

(_‘ Q7. Even my catignores me —

9 Q8. I don’t even know that person’s name —
o |

Q9. | can’t even drink water —

. Q10. Even my family doesn’t trust me —
.

Answers: 1. £171 2. 2471 3. & 4, A ZA} 5. BH=Z0{EAL 6, POPZEA 7. DO XA HE FABIR. 8. 1 AR} OIS ZAF 22K,
9. SZAF R OFMR.10, 2IEZRXE ME of

w.sooandcarrots.com



It expresses that the speaker was about to do a certain action in the very near future.
Itis translated as “was just about to”, “was just planning to”.
It is often used in the past tense ~(2)2{H £to|A0|.

*(Q)2{d oo/ &l / &l —at the very minute / ~(2)2{H 0|02 — near future

If the verb stem ends with a final consonant (2t%&!) — verb stem + 22{H Zojo|2

If the verb stem doesn’t have a &%l or the &%l js @ — verb stem + 2{ I £tojol|R
*irregulars : £CHto hear) > £22{T 0|02 / ECHto help) » =R2{E &oloa

Ex

2R ISE =] 7t E E0|of|R. (I am about to see a horror movie -in this moment.)

2XISE i 7t E HOo|AH K. (I was about to see a horror movie-near future.)

E| 25t Aol M2 LS HAN K. (I was just about to go home but | got new tasks.)
Ftmlol| 7t2{= &I, ZHo] Z2HR? (I was about to go to a cafe, would you go together?)
O|Ziot B MM S Hoz{H &0|F0 K. (I was planning to eat lunch after finishing this.)

E QL. F9M BE2 (E3d / E{d) Holo K.
D Q2. M RLHTSHE (A2 H / Al{H) FHolo K.

Answers: 1. BFOE 2 At2{H 3. 2O
9. THHE BHEEHE Fololr. 10. g2

20K, (*4ICk: to take a rest)

. I was about to fix the computer —

. was about to meet my friends —

Q9.

Q10. I was about to draw a castle =

EHO|AUO K. (*AHHSICH take a walk)

ol . (*¢ct: to wear)

| was about to make Japchae —

2T 4. +|2{E 5, LS B 6. Yo E 7. AHEIE DA E Hololl.8. MFES B Holo=.
Je|2E 2ojof 2.
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It indicates that there is some additional information, state, action besides the first clause.
It should be distinguished from ~(2)2 # (*Day 86).
It’s translated as “not only”, “not only ~, but also ~”. Bt can be skipped.
It is often used with ~& (also) on the following clause, word.
If the stem ends with a final consonant (2t%l) — verb/adj stem + & %0t ofL|2}
If the stem doesn’t have a 2%l or the 84l is @ — verb/adj stem + 2 23t otL|2}
*irregulars :=CkH(to hear) > S8 #0t OfL|2t / SCHto help) —» =& #2t OtL|2t / FCH(cold) — F=& w Tt otL|2t
Noun + 80t ofL|2}

M &2 staof M 717k %ot ofL 2t 71R. (My new house is not only close to school but also big.)
Xesat otL|ah & kI = 3 Jt4E Z0li K. (Not just |, but my friend also likes the singer.)

Me @280t ofL|2t OF2E T 2 HO{R. (I can eat neither peanuts, nor almonds.)

OfQd P& fak otL|at ASHA 20{R. (I not only exercise everyday but also eat healthy.)
7|kt otL|2t X|SHE = 1 EtR. (Not just the train, but the metro is also quite fast.)

3

1 QLFAS (22/2) %0 OlLiZ S Y| oM SEojg,

o
1

Q2. 22| 2t= L2 E (Rt / 2E) 2 OfL2t H H # K.

44
D Q3.0| FUE2 (RS / &) 22 OfL|2t 7|50] Z0tL.
#

‘-"‘ Q4.0|2:= AHG Q. (*or=E Lk beautiful)
»
.‘%/ Q5. DIZHE SIsiA sH=20] E20{E 812D 0K,
'G o0 o = %
ﬂ Q6. AEYAE E7| floliM S22 =T F Q. (*ECk to hear.)
&

.' ‘ Q7. The singer is popular not only in Korea but also abroad —

Q0. I like not only cake but also bagels —

o -
3 % Q8. My puppy is not only cute but also brave —

«, Q10. | eat neither meat nor fish —

fL2t s QoA = FEsle.

Answers: 1.5 2. ko
Mz ot HolR.

o3 52 4, 0[ECHS O O[LIZ} 5. BB OlLI2H 6. 58 BB OILI2H7. 1 A 312
8. X ZOtX|= #0428 et of

AV SO0RnAGATOtS ot =

wop
Ii_
I



It is used to gently and softly suggest a certain action to someone.
Itis translated as “why not”, “why don’t you.
The form is simple: Verb Stem + X| J2{Q?

Ex.

L2 2AiiM XFHAHE EHX| 2227 (Why don’t you ride a bicycle for your health?)
O 9X| 224K? (Why don’t you eat more?)

O =2 AMO|=E AtX| 22127 (Why don’t you buy a smaller size?)

FH HoR. 2FE Xl J241R7? (You look cold. Why don’t you wear a coat?)

3|At 2XH 2 O|AFSHX| 3227 (Why don’t you move near your company?)

Q1. L #0t OfL|2} Ut = TX|E (MX| / MX|) 27
Q2.otmt 2ofR. Ho|M (#X] / =X|) J2K?
CCEAFRLITE 2t MMEDH (RSB ERIX| / EXI) a2K?

Q4.0+20| SHsHH ' SX|5H| ? (“&3iCt: to tell)

L FREaN G,
g

Q5. 22|5t7| HEota? HiE SAS ?(*F23}C: to order)
ﬁ e | =l =2 [u]
o Q6. & Hest =Tt ? (*AtCk: to buy)

Q7. Why don’t you go to the hospital? —

Q8. Why don’t you meet your friends? —

e

\

Q9. Why don’t you take a bus? —

Q10. Why don’t you wear a cap? —

® i

Answers: 1. MX| 2. #{X| 3. LHER[X| 4. YSHA| 02)Q 5. FEOIX| 2L 6. AIX| 22K 7. H0| 71X 22127 8. HFES QLK

—eere. s B aeen10. 242 S il . sooandcarrots.com



Both expressions are for quoting from credible sources such as statistics, thesis,
and news.

Itis translated as “according to”, “based on~”

Form is simple: Noun + 0f| 2|5t / Noun + 0f (=™

Ex.

ZAto]| whE2H $t=101o] I5HME = FA0f| EXfoCtn sHe.

(According to the survey, 35 percent of Koreans invest in stocks)

A Zotol| ofstH st=ole HMTZE 7hE oF BTk BhL|Ch

(According to the research result, Koreans smell the least.)

CDCOf| =X, &5 M2 0| 0tASIE MOk ST SHR.

(According to the CDC, you need to put on your mask after washing your hands.)

Please fill the blank with the correct word. <7| &%, HS AL Y gt =8 HE WH AHE>

< . _ .
Ql. of (EM ZOo = AS{HO|= AMEIO| O EMT AR,
s Q2. ol 2|5tH LHARE HZS QIASHCET LT,
3t I Q3. off =™ CHS 3 LHLH H|ZF 2 ol g ol2t ghL|ct,
‘I: Q4. o o|stH HIEFDI K7t Z&2Q S+ s=Ctn iR

Ox| OtAS HIS J=MQ| = 3
din Q5. of =M 22| MHZ B3 Jtsd0| ECtD iR
i
M

[/ Q6. Write a short paragraph using ~0f| 2|5}H / [t=H

WWIWSOBHRAEETTOS Eof ' ¢



These are passive verbs in Korean, indicating that a certain action was performed
by someone else and the subject is affected regardless of its will.
Verbs take on the passive form when 0] or 8| or 2] or 7| are attached (It’s different
for each verb.)
Ex. HCt — HS|C} (to be eaten), ELCt — =O|C} (to be seen), 2tCt — Qt7|Ct (to be held)
Past form: RCH AR, UL L, RCH/F0R, ZCHZ0 K.
Ex. 302, HU0 R, otFo e, S7ioia. ...

ML}
to use
to write

HC}
to see

L+Ch
to divide

=Lt
to put
to place

ATt
to mix

=t
to cover

HHRCH
to change

MO|CH

to be used
to be
written

Holc}
to be seen

LI CH
to be
divided

FO|C}

to be put
to be
placed

Alo|ct
to be
mixed

FHo|Ct
to be
covered

HEPCF
to be
changed

ECt
to grab
to catch

gict
to read

SfCH
to step on

Sdct
to forget

EEEp
to close

W

to chew
toignore
(slang)

=Lt
to select

oIt

to be o}
grapped =

to be to push
caught

2A5|Ct 2Lt

toberead tobite

Es|ct XtELCt
to be to cut

stepped on  to fire

ds|ct
Er}

to be =
forgotten to hear
Ers|ct &

L
to be tEo g en
closed P
Ws|ct
to be ErCt
chewed to solve
to be to untie
ignored
=0|Ct or

C|
to be tEo srell
selected

Za[ct
to be
pushed

=2|C}
to be bitten

Ea|ct
to be cut
to be fired

S|t
to be
heard

Fa|Ct
to be open

Eaict
to be
solved
to be
untied

Za|ct
to be sold

www.sooandcarrots.com

OtC}
to hold

Hi{ QECH
to deprive

Zrt
to pursue
to chase

e
torip

Zcot
to wind

#act
to lock

uct
to believe

otr|ct
to be held

# Q7| C}
to be
deprived

Z7|ct
to be
chased

W7\
to be
ripped

Z7|ck
to be
wound

E7ICt
to be
locked

Ut
to be
believed



~ Ql. &2 ot Ha|H (e / HE) X S2t8.
Q Q2. =710| et (&2 / EAH)R.
® Q3. “BEX|X| ORMIR” 2t11 (0] / A3) 101 Q.

O Q4. 7tE = (WH/

AN

=

Aoe.

Q5. ERIEIFLO|A| (2t0] 22 / 2t7] 1) HOR.

Q6. M7t & tHEZ (*#LC}: to select)

o
T" Q7. 2| ALOI[ M (*Xt2CF: to fire, to cut)
g -‘o Q8. AtsX7t =o 2 (*HLC} to cover)
J/» Q9. Atzto| (*HFCE: to change)

Q10. O At2oi[A| OrS 2 (*w§ LTt to deprive)

Q11. 1 am often bitten by a mosquito —

=R
Q12. The dooris closed at 11:00 o’clock —

Q13. Korea was divided in 1945 —

Answers: 1. Z8l 2, 2| 3. M0{ 4, YR 5. 271 6. EHH R / EXVOR 7. He{Q /0L 8 FHR / FANR 9. 6IF|0{Q / HHFIAA R 10. WAL / At
11 271017 X3 221K 12. 11AI0] 20| ©5 Q. 13. 1945E0] $t=0] LIF AN K.
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For SICt verbs (Day 13), you can change them into passive by adding these suffixes.
E|Ctimplies that a certain action or state was performed by others. (E|2! can be §)
YSICEimplies that a certain action or state was unwantedly forced.

4} implies receiving something or that an emotion was part of a certain action.
Some verbs can be used in more than one format.

Ex.
gklE AAE Z=H|E Mol 2. (A delicious meal will be prepared.)
LS A5t A2 Xt 0| 8Hol K. (An overly nice person often gets exploited.)
ML g4 =ZWotR. (I’'m always helped by the teacher.)
E 4
g} CH1C} 4L}
EEcsic)
ZANE|C oo S
285 .f to be controlled =S
to be decided . to be helped
to be manipulated
BHE =T ELECHE, At
to be delivered to be killed to be loved
ERLE1s, F ATt Tt
to be invented to beignored to be rescued
S &} o|=gstct HHC
to be reflected to be divorced to be exempted
O 2 &| CF HEESICt QL
to be prevented to be rejected to be misunderstood

www.sooandcarrots.com



<
&

QL. 7tFat HFS0l|A| B0l (AFZ=|1l / At ) AR,

Q2. SA|0| =X| A (HHEEIY / HHE L) K.

-

)‘

Q3. HIE7| 20 (Ol=2E3 / ol=2E ) K.

D Ja

i

-

Q4. 0| 7[AI= 20210 (=R / LEERH) K.

o
~
P
op
on
o
H

°
2
fO

Q5.1 HAt= X5 (25

% Q6.HLARIS 1928 =0 (2243HCt: to discover, to find)
N
s .'_f:? Q7.3 00| = HZHO| HEO A ALZHE0A| (*238H3ICt: to misunderstand)
=4
() Q8. 0|H ZH0f| K| oA (*8HABLIC}: to reflect)
F=2
—_
S Q9.Helo] ZEA (*HZSICt: to arrest)

oo
fjo

Q10. SAES2 B0| SHH A| (*HHIBICE: to exempt)

Q11. My request is always rejected —

Q12. The winner is decided by vote —

Q13. Everyone’s voice will be reflected —

fol1 6. LA AR 7. SEOH“’O% 8. I E|0]e /HIE AR 9. HEEAN R / HEI0R

=
=S
=2

Answers: 1. AT 2, i
2HE0R.13. 252 5427t gtdE Ao Q.

ct
g
10. BiFEOlR 11. ¥ R8s gd
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Quiz Day 91-100

1. Please fill in the blanks:

S:EZ MIEF M AEE 2 20, 1092,
B: d2R? et i S0{EHH 0|01 L. CrolH| L.

S: 4l =3t Al O AR = 2R,

B: Zotolir! @= &l 7t= ZHEFSHA| =5t THE|E77tR?
S: Eotg!

2. Please choose the word that doesn’t fit in.

of 25t Z2tAls St LotE & &

A =2 B: ME J|AFC: S 2 D: AL QI

m

(=]
T

Ho
Ho

3. Please choose the right answer:

)IIF
IﬂO
-~

Q.2
A.

A. o222l A 'E*.—E—Oil %91018

C.7te 2d %‘21018.
D.5% ZA & =AU K.

4, Please choose the wrong sentence:
A. LISHE| ZIm} O] E =X} oF YO 2.
B. Hz2tstz{H 0|0 Q.

C.252 & &M Xtx| 22iK?
D. #1042 #OtL|2t 20| AN K.

5. Please choose the word that doesn’t fit in:

=B FHoloR

. 3aof 7}
(E20E
CIHES 2o
2BE %

.Uow>

Answers:
1. =520l /& / 2et ofuf2t/ 2o

www’sooandcarrots.com
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Essay 91-100

7t 238 20| FAHATIR? 7t 2ot Ao thal FalFM .

What is the most precious thing for you? Tell me about your most precious thing.
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Extra Questions

Q1. 28t5| E2 & = UCHH, o{EHA AL E HojlR?
If you had unlimited amounts of money, how would you use it?

Q2. 7Kg W= 7|120] HolR?
What was the happiest day/worst day in your life so far?

Q3. o 20j|#| “H="0|2k 20]0f|? X|Z WEHQ? F10| A ES =S si?
What is “happiness” to you? Are you happy at the moment? What makes you happy?

Q4.0{2{ 22| LztolM 2 =M/ SFL2 FA00R? o'EA| ELH=X]| XtMIs] 2EHFAHL.
What is a big holiday/festival/event in your country? Describe in detail how you and others
celebrate.

Q5. W C}X SRo| S0t Hofof SICHH, 21 18 7022 2HQ?
If you could only choose 5 meals/dishes to eat for the rest of your life, what would those be
and why?

Q6. 5t St CHE AtEto] & & QACHH, 71 £| 11 HojR? 2fe?
If you could be another person for 1 day, who would you choose to be and why?

Q7. “sh=0| FLME ot U2 ACH’2H= To| A0{ K. &f0flA] 0] ZE0o| ACHH Ho{FAH L.
Consider the expression: “Every cloud has a silver lining” (Even if the sky collapses, there’s
a hole to escape)- What does this expression mean to you, using some examples from your
life/experience.

Q8. 7int2 EE= H D2l o|f 1 A2 ZHII A0K? o{HA 0|E 7o|a?
What are some goals you want to achieve in the near or distant future? How will you achieve
them?

Q9. Bt Ei= D|2HE o HE 4= UACHH, O|C|Z o{HE Hoj|Q? 2HQ?
If you travel to either the past or the future, which one would you choose? Why?

Q10. o{2{20j|AH| «“tHTt o[t R0l 22 XIM|S| ZHo{FMIQ.
Can you describe your “perfect day”? (Put in as many details as possible)
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Korean Zoom Class

Looking to learn Korean with a Native teacher and other fellow
students?

Soo and Carrots is hosting a Monthly Korean Zoom Class with a
certified Korean instructor.

Whichever level you are at, we have you covered with classes on
Korean Alphabet and Pronunciation, Beginners’ Class and Upper
Beginners’ Class, all based around the learning materials available
from Soo and Carrots.

With Love from Korea Workbook

The Monthly Online Magazine that brings together Korean Language
Practice and insights into Korean Culture and Trends. Each month,
you get brand new contents, targeting Korean vocabulary, grammar
and writing drills as well as thoughtfully selected articles on various
topics of interest related to Koreq, plus other fun, little surprises that
we will let you discover on your own.
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100 Days Korean Vocab Challenge:

Carro is challenging you! 100 Days, 100 Word Sheets, 14 Vocabulary
Terms per sheet.

Carro’s 100 Days Korean Vocab Challenge is a supplementary
material to Korean For All textbook, a chance to take your Korean
learning one step further.

Expand your Korean vocabulary with 100 Topic based Word Sheets.
You can choose to complete 1 Word Sheet per day or if life gets too
busy, perhaps you can try memorizing 2 words a day and finish 1
Word Sheet per week. Anything goes, as long you keep working on it!
The Word Sheets’ difficulty level increases slightly as you progress to
the final sections.

Practice your Hangeul writing skills by repeatedly writing down the
terms.

Memorizing new words is essential but you also need to put this
knowledgeto use! Forthat very purpose, we have included Crossword
Puzzles and Word Quizzes for every 10 Units. That way you can revise
the vocabulary terms and see them used in sentences.

At the end of the challenge, you will have enriched your Korean

vocabulary by over 1400 key-words and phrases that you can mix
and match in your daily conversations.
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100 DAYS KOREAN GRAMMAR CHALLENGE
ETH12H 1st edition published 2021, 7. 12
XI20| Written by SO0 KIM
HZ! Edited by Ceren lzgi, Ruxandra Georgescu, Florence Kim
CIXI2! Designed by Denny Setiawan, Mehrab Hossain Mera j
IHL4=R Published by Soo and Carrots
XIZ} Printed by Longtail Books
ISBN 979-11-970807-6-0
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